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Question Number : 1 Question Id : 7532293239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was the President of the Indian National Congress at the time of partition?
Options :

1. ¥ JB Kripalani

2. % C Rajagopalachari

3. # Jawaharlal Nehru

4. % Maulana Abul Kalam Azad

Question Number : 1 Question Id : 7532293239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



faUTST & THY WRA P 199 & Sreag Fafiad # 3 o &
Options :

1. ¢ S o U

2. # Y ISR

3. % S[dTeR A1 "g®

4. % T g HATH NG

Question Number : 2 Question Id : 7532293240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did the Indian Men's Hockey Team win Gold at the Olympics for the first time?
Options :

1. ¥ 1928

2. %1932

3. % 1948

4. % 1951

Question Number : 2 Question Id : 7532293240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR G2 g1 A1H A Ugah aR et o ol uge ford aul Sifar U
Options :

1. ¥ 1928

2. %1932

3. % 1948

4. % 1951

Question Number : 3 Question Id : 7532293241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The party symbol of the All India Majlis-E-Ittehadul Muslimeen is



Options :

1. # Dao

2. ¥ Kite

3. % two leaves
4. % Scales

Question Number : 3 Question Id : 7532293241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3iia a1 Tefe-u-SasTgd GRAHH (AIMIM) &1 Uret fog gl
Options :

1. % grafl

2. ¢ Ol

3. % Q1 g

4. % d0y]

Question Number : 4 Question Id : 7532293242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following act is the “first statute” for the governance of India under the direct rule of British Government?
Options :

1. ¥ Government of India Act, 1858

2. # Charter Act, 1853

3. # Indian Council Act, 1861

4. * Indian Council Act, 1892

Question Number : 4 Question Id : 7532293242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & Q ©1F I1 98 wud AfAATH U1 S f3few TRHR & URd WR Udger R $1 3gAfd a1 g2

Options :




1. ¢ URd PR A9, 1858
2. % IR AfAFTH, 1853

3. % YR uikee HA=gH, 1861
4. % YR gkyg HfAfTH, 1892

Question Number : 5 Question Id : 7532293243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is NOT a folk music from the state of Maharashtra?
Options :

1. # Powada

2. % Lavani

3. % Ovi

4. ¥ Dandiya

Question Number : 5 Question Id : 7532293243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FofRed # 9 SH-91 e HeRTY Isd ¥ Jeifid e g2
Options :

1. % giarst

2. % Squil

3. % 3fidt

4. ¢ Sifsan

Question Number : 6 Question Id : 7532293244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which temple is in form of a representation of Sun God's chariot?
Options :

1. % Jagannath Temple



2. ¥ Konark Temple
3. % Lingaraja Temple

4. # Rajarani Temple

Question Number : 6 Question Id
Orientation : Vertical

Correct Marks : 1 Wrong Marks :

: 7532293244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

0.25

HH-T1 HfeR I 39 & Y & U HT 9 Rl 87

Options :

1. % STy HieR
2. ¢ DN AR
3. % foRIS AR
4. % ORI AR

Question Number : 7 Question Id
Orientation : Vertical

Correct Marks : 1 Wrong Marks :

: 7532293245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

0.25

Detergents are ammonium or sulphonate salts of long chain:

Options :

1. # hydrofluoric acids

2. ¥ carboxylic acids

3. ®* hydrochloric acids

4. * nitric acids

Question Number : 7 Question Id

: 7532293245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

3THTSIe, o1 < SRgamsit o sMifaH a1 I e daul |

Options :

1. % EIRQITANGG 3
2. FIEiaIId 3
3. % GIRSIFIRD 3

4. % TEfCH o

Question Number : 8 Question Id : 7532293246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When was Save Silent Valley movement held?
Options :

1. % 1975

2. % 1974

3. % 1972

4.9 1973

Question Number : 8 Question Id : 7532293246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g TIsdie dal 3igied e rNford fasar mar U
Options :

1. % 1975



2. % 1974
3. % 1972
4.4 1973

Question Number : 9 Question Id : 7532293247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following traditional pastoral dances performed by the women of Punjab State?
Options :

1. % Popir

2. % Ghoomar

3. % Aji Lamu

4. ¥ Giddha

Question Number : 9 Question Id : 7532293247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeigd & @ & 91 URURS U T Yol X1od &1 Afgaall gRT faa Sirdl g2
Options :

1. % QiOR

2. % IR

3. % 3ol A,

4. ¢ firEn

Question Number : 10 Question Id : 7532293248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Vishu, also spelled Visu, a spring festival is celebrated in which of the Indian state?
Options :

1. % Karnataka

2. % Telangana



3. ¥ Kerala
4. # Panjab

Question Number : 10 Question Id : 7532293248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fag, ord fag +ft e SITaT B, IR & g Isg § H9r oM arell 9¥id e d 82
Options :

1. % PP

2. % dEHTH

3. ¥ B

4. % U99

Question Number : 11 Question Id : 7532293249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who developed the Theory of General Relativity?
Options :

1. ¥ Albert Einstein

2. # Isaac Newton

3. % QGalileo Galilei

4. ¥ Nicolaus Copernicus

Question Number : 11 Question Id : 7532293249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T0erd &1 Rigid foam fae g faar umr
Options :

1. ¢ 3fcEc A

2. % 3o Y

3. % fcrferay Aereft



4. % P HIRASY

Question Number : 12 Question Id : 7532293250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a common waterborne disease?
Options :

1. # Typhoid Fever

2. % Cholera

3. ¥ Influenza

4. % Giardia

Question Number : 12 Question Id : 7532293250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FEffed & & SF 91 Ue I Sasid 9 761 82
Options :

1. % TGS gER

2. % gull

3. ¢ SHRIEST

4. % fomfaan

Question Number : 13 Question Id : 7532293251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which financial institution introduced UPI, USSD, BHIM App, CTS, RuPay and NACH?
Options :

1. ¥ NPCI

2. % [FCI

3. % IDBI

4, % IDFC



Question Number : 13 Question Id : 7532293251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UPIL, USSD, BHIM TU, CTS, RuPay 3R NACH, FHfaRad & ¥ fory faiia T gR1 & {6 U g2
Options :

1. ¥ NPCI

2. # [FCI

3. # IDBI

4. # IDFC

Question Number : 14 Question Id : 7532293252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year India got its central bank and commenced operation as Reserve Bank of India?
Options :

1. % 1 April 1930

2.% 1 April 1935

3. % 1 April 1940

4. % 1 April 1945

Question Number : 14 Question Id : 7532293252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRA & Hoid §ob, ORIt T YR ReTd 9 §, 3 RITI 6 §32
Options :

1. % 1 30d 1930

2. ¢ 1 30 1935

3. % 1 3 1940

4. % 1 U 1945




Question Number : 15 Question Id : 7532293253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of these is NOT a Quantitative Instruments of Monetary Policy?
Options :

1. # Open Market Operations

2. % Liquidity Adjustment Facility

3. % Moral Suasion

4. % Cash Reserve Ratio

Question Number : 15 Question Id : 7532293253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed o @ o w1 M S &1 AEEs e T8t 82

Options :

1. % gl doR AT

2. # AW TS Jfaer
3. ¢ Afd% ga@

4. % I RI&T Srurd

Question Number : 16 Question Id : 7532293254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following places is known as Krishna Janam Bhumi?
Options :

1. # Ayodhya

2. % Varanasi

3. % Puri

4. ¥ Mathura

Question Number : 16 Question Id : 7532293254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

9 o 9 ford ®IM &1 $W1 o Y T S 82
Options :

1. % 3

2. % RO

3. %

4, & HYIT

Question Number : 17 Question Id : 7532293255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The revenue system introduced in the Bombay Deccan in 1820 came to be known as the
Options :

1. ¥ Ryotwari Settlement

2. % Colonial Settlement

3. # Permanent Settlement

4. # Revolutionary Settlement

Question Number : 17 Question Id : 7532293255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1820 H, S Gadh H 1] [oRd YU &1 FHfRad & I &1 g SiTdT 412
Options :

1. ¥ gAdTS! saled!

2. % IUMARIE Sqiad!

3. % R elawdl

4. % HIfaHRT derawd!

Question Number : 18 Question Id : 7532293256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Indian political system provides for
Options :

1. ¥ Multi-Party System

2. # Single Party System

3. ¥ Two Party System

4. ® Zero Party System

Question Number : 18 Question Id : 7532293256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR ST YoIeR fd TR B1 Jumel! 52
Options :

1. ¢ Sgaaiiy Yurel!

2. % Teh-Gallg YumTell

3. % fg-qefig yorreft

4. % Ay gumredt

Question Number : 19 Question Id : 7532293257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With which sport does Pursala Venkata Sindhu is related to?
Options :

1. % Lawn Tennis

2. # Squash

3. # Table Tennis

4. ¥ Badminton

Question Number : 19 Question Id : 7532293257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
guaf dee Riy &1 9oy o A I fragaa g

Options :



1. % 9 A9
2. % WHI

3. % ¢qd oY
4. ¢ gsfiieq

Question Number : 20 Question Id : 7532293258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rohingya Muslims have mainly migrated from which of the following countries?
Options :

1. ¥ Myanmar

2. # Sri Lanka

3. # Pakistan

4. ¥ Nepal

Question Number : 20 Question Id : 7532293258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R G A 0 ¥ 4 9 7 9 e <=1 9 v far g2

Options :
1. ¢ TR
2. % diciehl
3. % UIfhed™
4. % U
General Ability
Group Number : 2
Group Id : 753229176
Group Maximum Duration : 0

Group Minimum Duration : 0



Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General Ability

Section Id : 753229176

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 753229211

Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 7532293259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the words given below in a meaningful sequence.

1) Infant

2) Adolescent
3) Child

4) Adult
Options :

1. ¥ 1324

2. % 1234

3. % 3421

4. % 4312



Question Number : 21 Question Id : 7532293259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e fau vl o1 gl ey & rafyd &1
1) fRrgg

2)

3) 9l
4) 9UIh
Options :
1. ¥ 1324
2. % 1234
3. % 3421

4. % 4312

Question Number : 22 Question Id : 7532293260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the given words in a meaningful sequence and thus find the correct answer from alternatives

1.Tissue
2.Plant
3.Leaf
4.Cell

Options :

1. % 1,234
2.% 2134
3.9 41,32
4. % 3241

Question Number : 22 Question Id : 7532293260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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1. Shdd

2.9t
3.0
4 DIRABT

Options :

1. % 1,234
2.% 2134
3.9 41,32
4. % 3241

Question Number : 23 Question Id : 7532293261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct option that indicates the arrangement of following places in a house in a logical and meaningful order

1. Living Room
2. Front yard

3. Kitchen

4. Back yard

5. Front Gate

Options :

1. % 21,534
2. % 54321
3.251,34
4. % 51,243

Question Number : 23 Question Id : 7532293261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 et [Ahed o1 I8 &Y, S A fT 0 TR & Wl &t a1 1 T diferes 3R T1dfes oA cidr g |




|. 93 B
2. A BT ATS

3. TR
4. NS SIS
5. grEA 1l

Options :

1. % 21,534
2. % 5432,1
3. 251,34
4. % 51,243

Question Number : 24 Question Id : 7532293262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Among the following words, which one will come first if they are arranged as per their order in an English dictionary?
Options :

1. % Adopt

2. ¥ Admire

3. % Admit

4. ¥ Adoption

Question Number : 24 Question Id : 7532293262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 Treq] T W, I e 1 T ¥, Sl SUST AeqdhIR b HH o SNR, I1H! WAl J Ugd T
Options :

1. # Adopt

2. ¥ Admire

3. % Admit

4. % Adoption

Question Number : 25 Question Id : 7532293263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Select the option in which the given figure X is embedded (rotation is NOT allowed).

‘| %7

Options :
1. %
2. %

3. %




Question Number : 25 Question Id : 7532293263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 e o1 9o 3 fored <1 Tt o X ofa-utfid € (quiF ot ergufa el @)1

X
Options :




%%

3. %

4. ¢

Question Number : 26 Question Id : 7532293264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four letter-pairs have been given, out of which three are alike in some manner and one is different. Select the letter-pair that is different.
Options :

1. # FU

2. % QJ

3. % MN

4. ¥ EW

Question Number : 26 Question Id : 7532293264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR 3eR-gH feu MU €, for e @ i forsht 71 fordt =0 & varai= § iR U 9 81 39 31eR-gH &1 999 &3 off 7 3|
Options :

1. # FU

2. % QJ

3. % MN

4. ¥ EW

Question Number : 27 Question Id : 7532293265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term in the same way as the second term is related to the first term.

Screw Gauge : Thickness :: Odometer : ?
Options :

1. # Smell

2. ¥ Distance

3. ¥ Sound

4. ¥ Earthquakes

Question Number : 27 Question Id : 7532293265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fAdhed BT 997 &, 1 R Weg J 31 I4T IRE HaTdd g, o UdHR gIRT Tsg Ugdl Ueg © A& 7
@ﬁﬁ:ﬁ?ﬁf:: JreHtex : 2

Options :
1. % 7Yy
2. ¢V R
3. % @
4. % YU




Question Number : 28 Question Id : 7532293266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third word in the same way as the second word is related to the first word.

Japan : Yen :: Iraq : ?
Options :

1. * Dollar

2. * Metical

3. % Dinar

4. % Dirham

Question Number : 28 Question Id : 7532293266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 faed &1 79 o S FRR Ueg, F I THR Taiferd § SR gRRT Teg U8 Teg J Taifd

Gl'l'qltf:a:f::w:?
Options :

|. ® BleR

2. % HdibTal

3. ¥ dHR

4. % fagin

Question Number : 29 Question Id : 7532293267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the word ‘LISTEN’ is coded as ‘13102021615’ in a particular coding language, then how will ‘TALK’ be coded using the same language?
Options :

1. %® 2011211

2.9 2121312



3. % 2121132
4. % 2020122

Question Number : 29 Question Id : 7532293267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS b} fIIw e HIST H 'LISTEN' Xeq 1 '13102021615' & U H Hdg (b STl 8, T ST HINT BT SUFNT bRb 'TALK' bl b
Pedg fhar S

Options :

1. % 2011211

2. ¥ 2121312

3. % 2121132

4. % 2020122

Question Number : 30 Question Id : 7532293268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Out of the following two dices, Dice A is rotated to reach position B. Determine the minimum number of rotations
required by dice A to reach position B.

e o .
.
e o | o .
. @ .
s @ .
A B
Options :
1% 3

o
8
N



Question Number : 30 Question Id : 7532293268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e gl g # 9, Ui A & RUf B T Uga- o fo7e gamn ol 8 | FRUF B T Ug g o fog Ui A g
G AT gaa! &1 e FHuiid o |

Options :
1. % 3

hat
S
[

Question Number : 31 Question Id : 7532293269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sam is more intelligent than Kunaal. Shikha is more intelligent than Sam. But Shiva is more intelligent than Kunaal and Sam are more intelligent



than Shiva. In the decreasing order of intelligence who is third?
Options :

1. ® Sam

2. % Kunaal

3. ®* Shikha

4. ¥ Shiva

Question Number : 31 Question Id : 7532293269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y, H1d ¥ IS Ffadq™ g | F=Rra, T ¥ i Sam g1 afd e, Homa ¥ $ifie gfgam 8 ok 31, Ria ¥ ¢fdw gfamm gl
S SH & ged HH H dRl DIF 82

Options :
1. % 31
2. % pAld
3. % fRrar
4. g

Question Number : 32 Question Id : 7532293270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Some equations are solved on the basis of a certain system. Find the correct answer for the unsolved equation on that basis.

3%4=43 ;5 *2=129 ; 1*5=7
Options :

1. % 23

2.9 26

3. % 75

4. % 56

Question Number : 32 Question Id : 7532293270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

TS TSRO B T T Jonet & YR R g {51 ST 81 39 SR W {31 g ford gu afieswur 3 fore el 5ot 9rd &1 |
3*4=43 ;5 *2=129 ; 1*5=?

Options :

1. % 23

2.9 26

3. % 75

4. % 56

Question Number : 33 Question Id : 7532293271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 457 = 745 and 832 =283 then what would be 619 = ?
Options :

1. ¥ 961

2. % 169

3. % 691

4. % 196

Question Number : 33 Question Id : 7532293271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qfe 457 = 745 3R 832 =283 5, AW 619 =2
Options :

1. ¥ 961

2. % 169

3. % 691

4. % 196

Question Number : 34 Question Id : 7532293272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Bob bought thrice as many oranges as number of apples. If he bought 60 fruits (oranges and apples) in all, how many oranges did he buy?
Options :

1. % 15

2.9 45

3. % 20

4. % 60

Question Number : 34 Question Id : 7532293272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

19 T B AT B o T ek WRie | 3R I $d FHAHR 60 Td (FR 3R ) TR, A1 39 $dl (e Hax WRIG?
Options :

1. % 15

2.9 45

3. % 20

4. % 60

Question Number : 35 Question Id : 7532293273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
On interchanging ‘@’ with ‘+’, ‘&’ with ‘—’, ‘$” with ‘x’, and ‘%’ with ‘+’, what would be the result of the following expression?

2@8&11$53%29="
Options :

1. ® 210

2. % —1

3.% 1

4. ¥ 0

Question Number : 35 Question Id : 7532293273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



‘@ B+ B, & Pl B Y, $ DI x* D Y 3R %’ BT+ & Y Fga- IR 9 ol BT IR F7 g2

2@8&118$3%29=?
Options :

1. % 210

2. % -1

3.% 1

4.0

Question Number : 36 Question Id : 7532293274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following interchanges in signs and numbers will make the given equation correct?

6 x9+3=57
Options :

1. % xand=,6 and 9
2.% xand+,3and 6
3. % +and x,3 and 9
4. % +and=, 57 and 3

Question Number : 36 Question Id : 7532293274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forgl 3R Temsii # fAg & 9 forg IREWR Sgaq WR, faan mar gefiesvur dqferd gt smeem?

6x9+3=57
Options :

. % x 3R =639
2. ¢ x 3R+, 336
3. % + 3R x, 339
4. % + 3R =57 3R 3




Question Number : 37 Question Id : 7532293275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four number-triads have been given, out of which three are alike in some manner and one is different. Select the number-triad that is different
from the rest.

Options :

1. % 1,4,2
2. % 3,12,6
3.9 4, 16,24
4. % 2,8,4

Question Number : 37 Question Id : 7532293275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR -39 fqu MU B, fo @ fiF foredt aRe O v gk O Efid €, SR U ST & | S RS- HT T8 H< ol d1eb! I AT 7 |
Options :

1. % 142

2. % 3)12,6

3.9 416,24

4. % 284

Question Number : 38 Question Id : 7532293276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The cost of an orange was 7 each, whereas a peach cost I5 each. A man spends a total of 38 on these fruits. The number of peaches that he
purchased was:

Options :
1.¥2
2.%3
3.% 4
4. %5



Question Number : 38 Question Id : 7532293276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WIS AN BT A X 78, 61D 82 TP 3MS BT 2 5 ¢ | Th MGH! 37 Hall IR Hdl 2 38 T Il g | 3T Hdf (o TS TRIG?
Options : ° °
1.2

2.% 3

3.% 4

4. % 5

Question Number : 39 Question Id : 7532293277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A domestic flight starts from Mumbai and goes to Delhi via Lucknow. The count of male passengers on the plane is twice the count of female
passengers. At Lucknow, 10 male passengers deboard and 5 female passengers board the plane. Now, the count of male and female passengers
becomes equal. In the beginning of the flight from Mumbai, how many passengers boarded the plane?

Options :
1. * 30
2. % 35
3.9 45
4. % 40

Question Number : 39 Question Id : 7532293277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TR IS Hos T T gl 8 3R TRaTS 8l gU el St B 1 famm & gow anft Y Tem Afgen anfal | St 81 daas o fame
T 10 T2 IET IR § 3R 5 Hiea aE TaR gidl ¢ | 31d, T2 3R ARar a1} &1 Te sRTeR 81 offcl! & | Has 9 S8M &I LI3M1d &,
fora Tt fam o SaR gu A

Options :

1. % 30

2. % 35

3. 45




4. % 40

Question Number : 40 Question Id : 7532293278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term in the same way as the second term is related to the first term.

Water : Root :: Gases : ?
Options :

1. ¥ Leaf

2. #* Flower

3. % Fruit

4. % Bud

Question Number : 40 Question Id : 7532293278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 faded &1 999 B 1 R U 3§ Taiferd g 3 YR gIRT U Ugd Ug ¥ Yefid |
qﬁ:ﬁ‘s’::ﬁﬂ:?

Options :
1. ¢ Uit
2. % d
3. % Wbl
4. %

Arithmetic Ability
Group Number : 3
Group Id : 753229177
Group Maximum Duration : 0
Group Minimum Duration : 0



Show Attended Group? : No

Edit Attended Group? : No
Break time : 0

Group Marks : 20
Is this Group for Examiner? : No

Arithmetic Ability

Section Id : 753229177
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229212
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 7532293279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Dimensions of a room are 1650 cm x 1350 cm X 900 cm.

Find the longest tape which may measure the three dimensions exactly.
Options :

1. % 75cm

7 « 150 cm

3 #% 200cm



4. % 300cm

Question Number : 41 Question Id : 7532293279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T B DI H@Taﬁﬁw 1650 cm x 1350 cm x 900 cm G|
3Y Y Td U 1 AT FaAT5U Sl 1 Holredl i [RI-GR1 J1Y Jabdll 8|

Options :

1. % 75cm
7 « 150 cm
3 #% 200 cm

4 % 300 cm

Question Number : 42 Question Id : 7532293280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not divisible by 6 and 12 both?
Options :

1 % 204

, % 192

3.« 570



4 % 60120

Question Number : 42 Question Id : 7532293280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 8T S 9 @81 6 3R 12 S S fAursg 781 8°

Options :
1 ® 204

5 % 192
3. ¢ 570
4 % 60120

Question Number : 43 Question Id : 7532293281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What number in decimal form should be multiplied withé to get i ?

Options :
1 % 04

2.¢ 0.8



Question Number : 43 Question Id : 7532293281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RO & EU H 2 T 1 & g 2 i e 4 ¥ foo wera S ¥ 01 fobar ST anfees

Options :
1 % 04

2.v 0.8

Question Number : 44 Question Id : 7532293282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What percentage of numbers from 1 to 40 has 1 or 5 in the unit's digit?
Options :

L« 20%

) % 15%

Question Number : 44 Question Id : 7532293282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

1 9 40 Tb o1 GEAIH1 B! b UiT=Id Yeai § §eb Ty 1 3 1 U1 5 BT
Options :

1.« 20%

-

5 % 15Y%

Question Number : 45 Question Id : 7532293283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ms. Manjali invests 6.5% 1.e. 2015 of her monthly salary in PLI. Later she invests 18% of her monthly salrv in

recurring Deposit (RD) in bank. Also, she invest 6% of her salary in PPF. What is the total annual amount invested by

her?
Options :

1. % 31000
o # 30455

3.« 2113460

4 % Z100000

Question Number : 45 Question Id : 7532293283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



g1 Tt U HIRYD I 1 6.5%011 b 22015 8 PLIH AR il €1 T4 81 98 (U |l 9 &l 18% §ab H
AT ofF T (RD) H Fa=I &l & | 5UP MfARad, 98 30+ A1 da- &1 6%, PPE H Hl Fa= &l g1 39® GRI
= &1 718 $a aIfties 4RI F1d FIfo|

Options :
1. % 31000

5 ® 39455
3« Z113460

4. % Z100000

Question Number : 46 Question Id : 7532293284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The value 'Df[i +Z .1 ]+(1 —ﬁ of (6+ 8 + 1)] is:

25
Options :

1.v 45

Question Number : 46 Question Id : 7532293284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

[+ -% 1+[1+ of (6+8+ 1)] I {9 J1d BT

25 15

Options :

1.¥ a9

Question Number : 47 Question Id : 7532293285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If Vx X /30.25 = 26.95 then value of x is:

Options :
1 % 4.9
7« 24.01
3 #% 240.1
4 % 2401

Question Number : 47 Question Id : 7532293285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

i /x X /30.25 = 26.95 ®, dl x BT A J1d HIY|

Options :
1 % 4.9

5 & 2401
3 % 240.1

4 % 2401

Question Number : 48 Question Id : 7532293286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is the smallest integer that is a multiple of 5, 7 and 42?
Options :

1.% 5
» % 215

3 & 210

Question Number : 48 Question Id : 7532293286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

O ¥ 98 BIc U Sic QUi SIF T1 8, ST 5, 7 3R 42 &1 0 &2



Options :
1. ® 5

5 % 215
3 ¢ 210

4. % 7

Question Number : 49 Question Id : 7532293287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Akash recorded the temperature for a period of 15 days daily at 10:00 am at a particular place. The average temperature
for the first seven days was 28°C and for the last seven days was 31°C What was the temperature on the 8th day if the
average temperature for 15 days was 29°C?
Options :
1.« 22°C

5 % 30°C

3. % 31°C

Question Number : 49 Question Id : 7532293287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



21T, fort faRIY I T 199 Ufafed 10:00 am 9 15 TS I TR gl Sl ¢ | YuH 91d fe-f &7 o gd
AU 28°C 3R 2AfaH 91d &A1 &1 219d age 310c 4Tl At 15 &A1 &1 29d arga 200c o1, df 8¢ f&q

dI9HM fhdar U
Options :
|« 22°C

» % 30°C
3 % 31°C
4 % 23°C

Question Number : 50 Question Id : 7532293288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a class, 15% of the boys are same in number as g rd of the girls. What is the ratio of the boys to girls in that class?

Options :
1. % 15:9

) % 18:10

3¢ 20:9

Question Number : 50 Question Id : 7532293288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Uch BT H, 15% TrSchl bl AT, TSIl bl GBI 1 HITT & SRS & | I e H TS| B Y 2R Tsial
GRS EC ARSI K |

Options :

1. % 15:9

) % 18:10

Question Number : 51 Question Id : 7532293289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ram calculate the simple and compound interest on a certain amount for 1 vear at X% per annum. the relation between
Simple and compound interest are:
Options :
| Simple interest = Compound interest

» % Simple interest > Compound interest
3 % Simple interest < Compound interest

4 % None of the given options

Question Number : 51 Question Id : 7532293289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



W T [T YeRIRT TR X% 1 a1 & I 1 G4 o FIYRUI TS HR Fehqie SATS I IUFT Bl & | JIURT SR
Iehdl Sl & g e Jd BHIfoTg |

Options :
L TR &7of = dehgleg ST

)« IR SIS > A NG AT

s IRV < Afg AT

4. % Eﬂﬁ%ﬁﬁl

Question Number : 52 Question Id : 7532293290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A shopkeeper marks his goods in such a way that after allowing a discount of 20%, he gains 20%. If the cost price of the

goods Z100, then the marked price is:
Options :

L % %120

7« 150

3 % %140

4 % 2110

Question Number : 52 Question Id : 7532293290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Uch GHGR U HIe Dl ffchd e ga-1 3@l & foh Sifdrd o W 20% FI BE & & ala Wl 3 20% BT AT
TTe Bl | i AIe &1 shd Hed 2100 3, A1 3BT 3ifdd Hed J1d SHIfoU)

Options :
1% 2120

5 & %150
3 % %140

4 % %110

Question Number : 53 Question Id : 7532293291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sunita can embroider a saree in 15 days, Her sister Namita can finish the same work in 10 days. They started working

on it together, but two days later, Namita had fever. Sunita had to work alone. How many days Sunita will require to
finish the remaining work?

Options :

1. ® 5

2. 10



Question Number : 53 Question Id : 7532293291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT U &1 AIS! Belg 15 farl H PR Gabdll &1 31! de- Tl dg! B 10 &1 7 TR R Gabell £ 1 384 1Y
TR 58 IR 1 A1 YR [T, b1 &l a1 o a1 SHd1 1 SR {1 47| ATl bl 3t Hrd B US|
Y B ol GrTaT foba &1 H U1 2 oile

Options :

1.% 5
7 & 10
3 % 12

4 % 15

Question Number : 54 Question Id : 7532293292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Train X starts at 8am from a certain station with A kmv'h and Y starts at 10.30 am from the same station at B km/h. if B
>A then how many hours will train Y take to overtake train X?

Options :
2.5
1« (B-4)

Ln

I

S(A-B)



[
rh

(B—A)

Question Number : 54 Question Id : 7532293292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a:[}i § am S0, U ¥ Y A ki/h 1 9T Y I %RRW% Sﬁ??ﬁ Y 10.30 am 991 341 €2F Y B kmv/h Bl
91 I Y& Bal g1 MG B=A T, Al ¢ v, ¢ X Bl o € # oflac s i

Options :
2.5
1.« (B-4)
y % 2(a-B)
3 % 2.5(A-B)
4 % 2.5(B-A)

Question Number : 55 Question Id : 7532293293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The following pie-chart shows the percentage distribution of the expenditure incurred in publishing a book.

Promotion Cost
10%

Transportation
; Cost 10%

= Printing Cost Transportation Cost = Paper Cost

= Binding = Royalty = Promotion Cost

If total cost of publishing 5900 books be ¥9.44,000
Then how much Rovalty will be paid to the Author?
Options :

| = 1/6 part of the total expenditure.

, % 15th part of 29.44.000
s % 214,160

4 v ZLA41,600

Question Number : 55 Question Id : 7532293293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

feam T urg <91 U YEish & UM H g aTel At =agi & Uideid s &l gl 8|

e 5000 GKID| b UDHIRF Bl Gl AT 29.44,000 &, 1l GG b fdal Udec! (Royalty) Wl ol ST

Options :

5 % 9,44,000 DT 1591 HIT
; = 214,160

4 v TL41.600

Question Number : 56 Question Id : 7532293294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Following are the marks scored by a group of students in test carrying 100 marks (arranged in ascending order)

29,32, 48,50,x, x 12,72, 78, 84, 95

If median of this data be 63. then value of x will be:
Options :
1.« 62

2. 70

Question Number : 56 Question Id : 7532293294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%Uﬁamamﬁﬂwqﬁ&ﬂﬁﬁmﬁdfﬁwﬂﬂﬁmwmwﬁﬁmﬁr@a%{%aﬁ%ﬁmﬁm@m
):

29,32, 48,00, %, x 12,72, 78,84, 95

ge il &1 HIHHT 63 8, Al x DI JH J1d DI |

Options :
1.v 62



Question Number : 57 Question Id : 7532293295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the following histogram, which represents the length (in cm) of thirty wardrobes in an online furniture store, and
answer the given questions.

-
(=]

Frequancy
B e R e B W R s @ WD

1393 1493 159.3 169.5 179.5 189.3 1993

length in cm

How many wardrobes are available whose length lies between 159.5 and 169.5 cm?
Options :
| % 6 wardrobes

> % 7 wardrobes



3 % 1 wardrobe

4.« 9 wardrobes

Question Number : 57 Question Id : 7532293295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

:ﬁ%lﬁfqmz Wﬁwaﬁ%mﬁéﬁlﬁwaﬂwm@ﬁwmsm P! AETS (cm H) B

™
=

.
S e oW B R W B W

1385 1493 1383 1693 1783 1883 1993

AT (cm )
Q@WCII /g dum@u%ﬁﬁﬁa&nﬁ 159.5 3R 169.5 cma?@ﬂ%“

Options :

| % 6TISRd
0 ® ?fﬂgﬁﬁ

;% 1dISXg



4 v 0dISE

Question Number : 58 Question Id : 7532293296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sides of a rectangular courtyard are in the ratio of 16 : 9. If its perimeter be 250 cm. then its area will be:
Options :

| % 1800 ¢m sq.

) ® 1850 em sq
3 % 1200 cm sq.

4 3600 cm sq

Question Number : 58 Question Id : 7532293296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U SAATBR ST DI YOIl DT U 16 : 9 81 Tie THBT URHA 250 cm 8. 0l THBT &ABE T DI
Options :
| % 1800 em sq.

) ® 1850 cm sq
3 % 1200 cm 3q.

4 3600 cm sq



Question Number : 59 Question Id : 7532293297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The radius of the base of a cylinder is 6 m and its height is 10.5 m. What is the volume of the cylinder? [Use n = % ]

Options :
| % 1320m3

5« 1188m?
3 % 1254m?

4 % 1056m3

Question Number : 59 Question Id : 7532293297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

el Se o TR T 1T 6 m © 2R D! Halg 10.5 m 81 ST T AT J1d SIOTC | (A AT n =27 ]

Options :
| % 1320m3

5 1188 m?
3 % 1254m?

4 % 1056m3



Question Number : 60 Question Id : 7532293298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y- Axs
14

12

10

o i i ' I . I\L.ﬂ.ﬂ
A B B C cCD D E EF F G

The given double bar chart shows relative outputs produced by seven emplovees in given time-periods, comparing two

=]

o

B

P

employees at a time. For example, in the time-period that A produces 7 units, B produces 4 units. Likewise, in the time-
period that B produces 4 units, C produces 6 units. The representation continues in this manner. If every employee is
paid according to one's productivity, and A gets an hourly wage of 450, what will be the hourly wage of G?

Options :

1 % T340

» % ¥420
3 v 360

4 % %400



Question Number : 60 Question Id : 7532293298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y- Axs
14

12

10

] i i i I . I'\Juu
A B B C cCD D E EF F G

W G U & gR 91C H U T1Y &l HHATE! Y el $Rd g, &l s THy-3fafd ¥ 9rd HHa1g! gR1 Jafad
HTUgf AH3CYC &I G Rid foar 71 § | IaTerul & [oe, forg THg-Aaid 7 A, 7 3HI5dl &I SMIET &Rl 8, 3d- ol
THY U B, 4 SHISY] & IdIGH Hdl ¢ | SUI a8, o7 THI-3(aiY H B, 4 SHIT! &l IdIG Hdl 8, 391 9Hg |
C. 6 SHISYI B IdTGT BT ¢ U8 FETu s 6H H 2T ORI IgdT 2| Ufe Ude HHAR! &l 351 IdIGHd &
TR YT T ST 8 3R A &I U €S 2450 &1 YA 601 o1al 8, O 6 &I Ufd 1 fovae ® 08 &7 Y
[Nl LET1S

Options :

| % 340

=5

&

F

P

5 % 3420
3 & %360

4 % F400
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Question Number : 61 Question Id : 7532293299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST eg BT Igaa 1 62
Options :



1. ¢ ST

2. % STl
3. % Gd¢
4, % SdGS

Question Number : 61 Question Id : 7532293299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST eg BT Igaa 1 62

Options :

1. % SIHdl

2. ® SIS

3. % SaQ

4. % SAGS

Question Number : 62 Question Id : 7532293300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
(;) DM a1 fRm g &2

Options :

1. % 3feUidH

2. ¢ JeifaR™

3. % guffaRm

4. % IufaRH

Question Number : 62 Question Id : 7532293300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
() PR fRE g e
Options :

1. % 3fegfaRTd



2.« effaTy

3. % QUifaRH
4. % JUfaRH

Question Number : 63 Question Id : 7532293301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TGHUT: T SNRMT T8f Ugad () g fh UeR &1 g 82
Options :

1. ¢ JUfdR™

2. % fqRUI g

3. % AR

4. % f9C2 g

Question Number : 63 Question Id : 7532293301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T TR T8t Uged () g frg uR o1 Rig 82
Options :

1. ¢ JufeR™H

2. % fqRUI g

3. % JreffaR

4. % [ g

Question Number : 64 Question Id : 7532293302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e H 9 fgavur fag dH A1 2

Options :

1. %1

2. % {3



3. %

5

4. ¢ .-

Question Number : 64 Question Id : 7532293302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
5 7 3 faRur fag s w1 32

Options :

1. % |

2.% (1

3. % ;

5

4. -

Question Number : 65 Question Id : 7532293303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 7 T foog areg © fovm fagl &1 agfad SuarT gen g2
Options :

1. % YTSal 3R Fg1 H 3Tl SMUD! 9gd — AT SR &I
2. ¢ YS! 3R TN H 31T 3! §gd — T STHBRY ¢l
3. % YISl SR FgAI1 H 31Tl D!, g — Wl STHBRI G|
4. % ST} 3R T, T 311oT 3MTUH! 9gd It STHBRI ¢ |

Question Number : 65 Question Id : 7532293303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 7 T fog areg © fovm fagl &1 9gfad SuanT gen g2
Options :

1. % UTZY 3R F-1 H TS MU 9gd — AT STHBRI Tl
2. ¢ YT 3R T | 3111 0P| Tgd — Al BRI |
3. % YISl 3R T8l H ofS MUY, §gd — I TSR ¢l




4. % UTZTY 3R FE, H ST 3! 9gd Il STHBRI I

Question Number : 66 Question Id : 7532293304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
(=) T P TR H1 R &

Options :

1. % ISR g

2. % RS Fw

3. % YW U8

4. ¥ JIIgID [

Question Number : 66 Question Id : 7532293304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
(=) T8 fpu R 1 Fore &2

Options :

1. % IR IE

2. % e fg

3. % 3@ g

4. ¢ JeOdg=s g

Question Number : 67 Question Id : 7532293305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a1 & T TRe A 8 HT S BT g |

Options :

1. % AT gef H
2. % RYdH g H

3. ¢ QUiarEad ug o
4. % Sgarge o



Question Number : 67 Question Id : 7532293305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o r R eI R ST BT g

Options :

1. % TAT(Q g8 H
2. % IRYIdH g |
3. ¢ QUiarEad ug o
4. % fgaruef H

Question Number : 68 Question Id : 7532293306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ToIeR thadt H BH BRI B

I AT [ UPHR BT TR 572
Options :

1. % Igod aIR

2. % oy a1

3. % ORI dIH]

4. % VYIS I

Question Number : 68 Question Id : 7532293306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
R b A HH HR G ¢

35 a1 [ YR &1 a1 82
Options :

1. % YYad qId

2. % Ty gt

3. ¢ I AR




4. % FANYTHS R

Question Number : 69 Question Id : 7532293307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ITH YBT3 HT dgad 31 g2
Options :

1. v gH

2. % gHY

3. % gy

4. % gHA

Question Number : 69 Question Id : 7532293307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
STH 3N G &1 ggad- 1 g7
Options :

1. v gH

2. % gHY

3. % O3

4. % gHA

Question Number : 70 Question Id : 7532293308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
0 7 3 ford aTed &1 BT SfeTy I 82
Options :

1. ¢ T @Id1 g

2. % HIg T BRI

3. % ggdler gl

A GIKIE]



Question Number : 70 Question Id : 7532293308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
75 & 9 f5u a9 &1 ST Siew aadH 82
Options :

1. ¢ T QI BRI

2. % HIg T8I

3. % ggdleI gl

4. % AT |

Question Number : 71 Question Id : 7532293309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ig I Gl & I' I | I A gy g2
Options :

1. % Fyrared

2. % DB

3. ¢ Ty

4. % Hopard

Question Number : 71 Question Id : 7532293309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I8 Tl Ghal 3 I' AT H 1 Al Ry 82
Options :

1. % gyt



Question Number : 72 Question Id : 7532293310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S A §FaH BidT & 39 9 91ed ] 1! 98 916 fh USR &1 A 82
Options :

1. ¢ foy 9

2. % WA IR

3. % gYod i

4, % IWEYD 1T

Question Number : 72 Question Id : 7532293310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S A Y9 il & 39 9l 71 § I 98 9T 6 UhR &1 a1 g2
Options :

1. ¢ Oy a1l

2. % I dIg

3. % JYad ar

4. % IHEAIYD AT

Question Number : 73 Question Id : 7532293311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR 919 B! {5 3= 7 F Wit SIH1 ST |2
Options :

1. « HIYRU 9]

2. % Ygol diX]

3. % YHY dI]

4. % PhRIHD dIR]

Question Number : 73 Question Id : 7532293311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TR I B fopg 3= A7 F +f ST ST 82
Options :

1. ¢ YR aTe

2. % gl a1

3. % gAY I

4, % JhRIHAD dIH

Question Number : 74 Question Id : 7532293312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STd fordT &1 e faw ot 81 Y I 91 aTed il 62
Options :

1. % gfxrard

2. ¥ HgarA

3. % pHarH

4, % H[ddryg

Question Number : 74 Question Id : 7532293312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T foraT BT U fawa Sl g1 af S A1 a1 gial 62
Options :

|. % gfarA

2. ¥ HqarA

3. % DHHITH

4. % Y[qdrg

Question Number : 75 Question Id : 7532293313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
frafafed # 9 g aa oA A e?

Options :

1. % TAgIcdl Jo! 33! dhara ol

2. % T T A - Ufa=rd 3fep Bt |

3. % 98 U faeard wifthan g

4. ¥ 3 Hiadl BT U 3 T 95 3ST T g |

Question Number : 75 Question Id : 7532293313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafified & @ g aam pH A E?

Options :

1. % Hglcdl dof 3w darar A

2. % T T YA - Uia=rd 3feh BT |

3. % 98 U faveATd HIfthaT 3|

4. T HIAd BT T 3 T 9gd ST Il g |

Sub-Section Number : 2
Sub-Section Id : 753229214
Question Shuffling Allowed : Yes

Question Id : 7532293314 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions

: No

Question Numbers : (76 to 80)

AAHIA BT H HRGEN ! RUM Tgd $3 I Uifed, AT Mdd & HRU § | HIH-ITHT & TR IR 3761 96 d Pidd HH g |
BT B B! TGI D &, AR HH | SHPHT YAV D1 B UTHT BT FY 6, SNl ATATeTRED TaRIT 3R FoHIED &HdT G <ol

3 3-SR IWSI-JWST 5 | B B URIG Fia AAEHT Bl 61 U SOTITER § , 51 ©-5-YANT TN & Y418 iR Siiadar 303

T BT, IR Y AT TR ol & | g ©G' PI Sl U HRIGER A 1 § T8 BT P (o1T 41, DIgd & [T 8| 39 Bal & HISTHTT U Fidl
o Y T @ 8, o PIg SUTHR U8l HRh g Had -Te! 8l Uld | HEHIe- HIHIN & U H 316 dd fasmiid 3R fHRawT g s

UTST &1 U BRG] X131 § Re-aR8 9 f[apd gan gl

g 7 RS & T-afded & forg fIa=1 ad foham g I &1 a1 311 81 SURHd §5 6, SIaidh 6 & g g [ T BTl & A § a1
T UTNT o 1Y faeTefor T 3R TearT el 5




Sub questions

Question Number : 76 Question Id : 7532293315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TYHTEH H1a H BT BT off R T B IHBT HROT 1 32
Options :

1. # 3{Tdepdlq

2. %

3. ¢ Uifsd

4, % ST

Question Number : 77 Question Id : 7532293316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hd P BT | Hfawred 1wt g =u 3 uRaféa g &
Options :

1. % BT &b AU HATBI &b FY H

2. % BT & TR Y H ¥ W g b =uH

3. ¢ HIFUTV & 3RS 3R IaY =4 &

4. % BTy H Ui UG B SN & U H

Question Number : 78 Question Id : 7532293317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sel & ISITIR' Y T I g2

Options :

1. % U9 RIF S8l ¢l &l Ioll & T Sar 8l

2. v TS A1 it oI se Sa &1 T g3 3l

3. % U 1R i forad Sal &1 Ui &t 79 J oIS 81|
4. % U I S8l ©-al BT UG fHa1 SIar gl




Question Number : 79 Question Id : 7532293318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"§g BC B! o1l YT PR 3 1 § I8 I P (AT Tel, B P AU 7 1" T o7 AT 32
Options :

1. ¥ TG o HIeOH Y HRIG B HI ¢l dgMT a1 , g TH@R UG BT a18d 3|
2. % Bl & HIHH Y $Hd B DI Wl g1 Igd Y|

3. % Bgl & TN ¥ HRd B BT ¥Y [dhd B 30T Uifs UefRid &1 aed 3

4. % Bql & HILH H BTG BT bl YR SHIDHR I & H-Y I SIS drgd U

Question Number : 80 Question Id : 7532293319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad 7 3 w1 $d ) BT o faivdr 781 82
Options :

1. % SIS YIS T TR

2. % UifsT UeeH

3. % gg oadl

4. ¥ MY &1 79 T JHAS

Question Id : 7532293314 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

BT BT H HRAGH B! (U Tgd F© I TS, TSI 3 b BRI & | HIH-ITAT b TR TR 3701 G Pidd HH gl A
PId I ST TgT SHfefes &, Suiferal A | WWWWWWW% S HTATE e TR 3R FolIAS & I efdal
T 3RA-F 3R IWSI-JTST ¢ | Hid Bt URIG Hfd AHAGDHT Tl b1 Udh SR & , 91 5-6-UANT U H TaTg 3R Shtdddl S
& BRal, RAIY TT PR A1 8| T8 B ﬁryﬁuﬁmao—maw?rﬁ%agm%%mﬁ DIgH & [ 81§71 Dal H HIoaHT T Jal
¥ g T T 2, R 1S SUIHR U0 7% 98 (e el 8 UTdt | TEaTelH BTN & U B ofd de e Rid 9fR FRaRT gon 59
UTST T Y $HRE BT 131 H TRE-0¥E § fagpd R

g 7 ST & T-afded & forg fIa=1 ad foham g I &1 a1 311 81 SURHd §% 6, SIaidh 60 & g g [ T BTt & [adb § ad
T HINT & 1Y TIceor TaiT SR Fga G 5 |

Sub questions




Question Number : 76 Question Id : 7532293315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HYHTA H1od H H21d B o FRUR UTe § ISP HRUT 1 82
Options :

1. ® 3fdbdlq

2. % Sl

3. ¥ Uifsd

4. % SFECT

Question Number : 77 Question Id : 7532293316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P P B § HfcipTod Bt ! b wu & uRerfad gt 82
Options :

1. % BT b HAIUD HABI &b Y H

2. % BT & YR IY U 3fYH T g b g |

3. ¢ BT & 38 3R Sag & d

4, % DI H UIfST Y& Bi U & U H

Question Number : 78 Question Id : 7532293317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Bl b SSTITER' T T AT 82

Options :

1. #% U1 I S8l ©al &I doll & @1 o1l &l |

2. ¢ U AIfg A pid ford 3% ©al &1 TN g gl

3. % U A1t i forad Sal 1 U ot 70 § FHrRISH 8l
4. % UG RIF o8l o5 &1 UeRH fHar Siar 8|

Question Number : 79 Question Id : 7532293318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

g B B S IR 1 A B R 98 iy B g T, i R 10 A o B2
Options :

1. ¥ ©G & U190 I HRd HI BT Uad e el , U THBR TeRH H1 a1ed A
2. % Beql o HIYH Y DRI BT P Wl ST 18 Y|

3. % Bgl & TN Y HRG B B &Y [dhd B 30T Uifed UeRid =1 9ed 3|

4. % Beql & HIH H HYG HTod bl YR SR I S A I SilS1 drgd U

Question Number : 80 Question Id : 7532293319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad & 3 w1 HRId B BT o1 fIRvdr 781 82
Options :

1. % S HTHT BT TART

2. % gifsa vee=

3. % §go<dl

4. ¥ MY &1 79 Y JHES

General English

Group Number : 5

Group Id : 753229179
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General English

Section Id : 753229179
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229215
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 7532293320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following text contains four underlined words or phrases. One is incorrect. Choose the incorrect option.

Most large companies now use computers by accounting and housekeeping functions.

Options :

1. # Most

2. % companies
3. % now

4. ¥ by

Question Number : 81 Question Id : 7532293320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following text contains four underlined words or phrases. One is incorrect. Choose the incorrect option.

Most large companies now use computers by accounting and housekeeping functions.

Options :
1. % Most



2. # companies
3. * now
4. ¥ by

Question Number : 82 Question Id : 7532293321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following text contains four underlined words or phrases. One is incorrect. Choose the incorrect option.

I managed to sleep on the plane and arrived feeling as fresh like a daisy.
Options :

1. # to sleep

2. % on the

3. * arrived

4. ¥ like

Question Number : 82 Question Id : 7532293321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following text contains four underlined words or phrases. One is incorrect. Choose the incorrect option.

I managed to sleep on the plane and arrived feeling as fresh like a daisy.

Options :

1. # to sleep
2. % on the

3. % arrived
4. ¢ like

Question Number : 83 Question Id : 7532293322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct one word substitution of the given sentence from the options given below:



Things of same nature
Options :

1. % Heterogeneous
2. % Homogeneous
3. % contemporary

4. % allies

Question Number : 83 Question Id : 7532293322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct one word substitution of the given sentence from the options given below:

Things of same nature
Options :

1. # Heterogeneous
2. ¥ Homogeneous
3. % contemporary

4. % allies

Question Number : 84 Question Id : 7532293323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the INCORRECTLY spelt word from the given options.
Options :

1. ¥ Confuse

2. ¥ Reffuse

3. # Profuse

4. % Diffuse

Question Number : 84 Question Id : 7532293323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Choose the INCORRECTLY spelt word from the given options.
Options :

1. # Confuse

2. ¥ Reffuse

3. # Profuse

4. % Diffuse

Question Number : 85 Question Id : 7532293324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is the correct spelling.
Options :

1. ¥ aggregate

2. % agregate

3. ¥ aggreggate

4. % aggrigate

Question Number : 85 Question Id : 7532293324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is the correct spelling.
Options :

1. ¥ aggregate

2. ® agregate

3. % aggreggate

4. ® aggrigate

Question Number : 86 Question Id : 7532293325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct option which best expresses the meaning of the underlined idiom/ phrase in the given sentence.



You can’t fool others every time by crying wolf.
Options :

1. #® Telling fairy tales

2. % Crying out aloud

3. # Calling out to your pet

4. ¢ Raising a false alarm

Question Number : 86 Question Id : 7532293325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct option which best expresses the meaning of the underlined idiom/ phrase in the given sentence.

You can’t fool others every time by crying wolf.
Options :

1. # Telling fairy tales

2. % Crying out aloud

3. % Calling out to your pet

4. ¥ Raising a false alarm

Question Number : 87 Question Id : 7532293326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct option which best expresses the meaning of the underlined idiom/phrase in the given sentence.

To keep his temper, he always listens to music.
Options :

1. ¥ To remain calm

2. % To be aloof

3. % To preserve his energy

4. # To have a good appetite

Question Number : 87 Question Id : 7532293326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Choose the correct option which best expresses the meaning of the underlined idiom/phrase in the given sentence.

To keep his temper, he always listens to music.
Options :

1. ¥ To remain calm

2. % To be aloof

3. # To preserve his energy

4. # To have a good appetite

Question Number : 88 Question Id : 7532293327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the opposite of the given word.

Desperate
Options :

1. ¥ Hopeful
2. % Violent
3. * Frenzied

4. ¥ Despondent

Question Number : 88 Question Id : 7532293327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the opposite of the given word.

Desperate
Options :

1. ¥ Hopeful
2. # Violent
3. * Frenzied

4. % Despondent



Question Number : 89 Question Id : 7532293328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word from the options that is closest in meaning to the given word.

Impetus

Options :

1. # Discouragement
2. % Stimulant

3. % hindrance

4. # QObstacle

Question Number : 89 Question Id : 7532293328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word from the options that is closest in meaning to the given word.

Impetus

Options :

1. % Discouragement
2. % Stimulant

3. % hindrance

4. % QObstacle

Question Number : 90 Question Id : 7532293329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with correct option given below.

The President claims to have done best to boost the confidence of the common people.

Options :
1. # their



2. % its
3. ¥ his
4. ® your

Question Number : 90 Question Id : 7532293329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with correct option given below.

The President claims to have done best to boost the confidence of the common people.
Options :

1. # their

2. % its

3. % his

4. % your

Question Number : 91 Question Id : 7532293330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S1 and S6 are the first and last sentences respectively. Select the option that gives the correct order of the sentences P,Q,R,S to form a meaningful
paragraph:

S1. Deductive reasoning is also known as ‘top-down’ logic, where the reasoning begins with an accepted premise.

P. We see him walking into a dank bedroom, gathering evidence so that his premise remains the only logical conclusion.
Q. They have a suspect in mind, and then they seek out evidence to prove the guilt of that suspect.

R. An example of this might be the method usually used by Sherlock while dealing with his assignments.

S. This is the kind of logic that, many of the policemen in the Sherlock Holmes stories (and our modern world) use.

S6. It’s been proven over time to be a useful tool in crime-solving.

Options :

1. % PQSR
2. % RQPS
3. # PRQS
4. ¥ RPSQ



Question Number : 91 Question Id : 7532293330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S1 and S6 are the first and last sentences respectively. Select the option that gives the correct order of the sentences P,Q,R,S to form a meaningful
paragraph:

S1. Deductive reasoning is also known as ‘top-down’ logic, where the reasoning begins with an accepted premise.

P. We see him walking into a dank bedroom, gathering evidence so that his premise remains the only logical conclusion.
Q. They have a suspect in mind, and then they seek out evidence to prove the guilt of that suspect.

R. An example of this might be the method usually used by Sherlock while dealing with his assignments.

S. This is the kind of logic that, many of the policemen in the Sherlock Holmes stories (and our modern world) use.

S6. It’s been proven over time to be a useful tool in crime-solving.

Options :

1. * PQSR
2. % RQPS
3. # PRQS
4. ¥ RPSQ

Question Number : 92 Question Id : 7532293331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts to form a meaningful sentence:

P. Gopal and his sister

Q. returning to the United States
R. after Christmas

S. thought of

Options :

1. ®* PSRQ
2. ¥ PSQR
3. # RPQS
4. % SPRQ

Question Number : 92 Question Id : 7532293331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts to form a meaningful sentence:

P. Gopal and his sister

Q. returning to the United States
R. after Christmas

S. thought of

Options :

1. # PSRQ
2. ¥ PSQR
3. % RPQS
4. % SPRQ

Question Number : 93 Question Id : 7532293332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct alternative to the underlined part , which may improve the sentence. If no improvement is required, select ‘No improvement’.

The world was going through a severe water scarcity for a decade now.
Options :

1. ¥ has been going

2. % has going

3. # have gone

4. ¥ No improvement

Question Number : 93 Question Id : 7532293332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct alternative to the underlined part , which may improve the sentence. If no improvement is required, select ‘No improvement’.

The world was going through a severe water scarcity for a decade now.
Options :

1. ¥ has been going

2. # has going



3. # have gone

4. ¥ No improvement

Question Number : 94 Question Id : 7532293333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct alternative to the underlined part , which may improve the sentence. If no improvement is required, select ‘No improvement’.

If government implemented strict rules, the environment pollution would not have gone this high.
Options :

1. # has implemented

2. % had implemented

3. * have implemented

4. % No improvement

Question Number : 94 Question Id : 7532293333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct alternative to the underlined part , which may improve the sentence. If no improvement is required, select ‘No improvement’.

If government implemented strict rules, the environment pollution would not have gone this high.
Options :

1. # has implemented

2. % had implemented

3. # have implemented

4. % No improvement

Question Number : 95 Question Id : 7532293334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct alternative to the underlined part , which may improve the sentence. If no improvement is required, select ‘No improvement’.

He adamantly told his parents that he did not went to school that day.



Options :

1. # did not gone
2. ¥ would not go
3. # had not went

4. ¥ No improvement

Question Number : 95 Question Id : 7532293334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct alternative to the underlined part , which may improve the sentence. If no improvement is required, select ‘No improvement’.

He adamantly told his parents that he did not went to school that day.
Options :

1. # did not gone

2. ¥ would not go

3. * had not went

4. ¥ No improvement

Sub-Section Number : 2
Sub-Section Id : 753229216
Question Shuffling Allowed : Yes

Question Id : 7532293335 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (96 to 100)

Read the given passage and answer the questions based on it.

The human brain loves a challenge, but only if it is within an optimal zone of difficulty. If you love tennis and try to play a serious match against
a four-year-old, you will quickly become bored. It’s too easy. You’ll win every point. In contrast, if you play a professional tennis player like
Roger Federer or Serena Williams, you will quickly lose motivation because the match is too difficult.

Now consider playing tennis against someone who is your equal. As the game progresses, you win a few points and you lose a few. You have a
good chance of winning, but only if you really try. Your focus narrows, distractions fade away, and you find yourself fully invested in the task at
hand. This is a challenge of just manageable difficulty and it is a prime example of the Goldilocks Rule.

The Goldilocks Rule states that humans experience peak motivation when working on tasks that are right on the edge of their current abilities.
Not too hard. Not too easy. Just right.

Working on challenges of an optimal level of difficulty has been found to be not only motivating, but also a major source of happiness. One of



the important sources of human happiness is working on tasks at a suitable level of difficulty, neither too hard nor too easy.
This blend of happiness and peak performance is sometimes referred to as flow. Flow is the mental state you experience when you are so focused
on the task at hand that the rest of the world fades away.

Sub questions

Question Number : 96 Question Id : 7532293336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, what kind of challenge does the human brain like?
Options :

1. # Any kind of challenge

2. ¥ A challenge of manageable difficulty

3. % A challenge that it cannot manage

4. % A challenge that requires no effort

Question Number : 97 Question Id : 7532293337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In what context are the names of Roger Federer and Serena Williams mentioned in the passage?
Options :

1. # as tennis players who are very popular

2. # as sports people who face challenges boldly

3. % as tennis players who are hard to defeat

4. ® 35 sports people who do not motivate other players

Question Number : 98 Question Id : 7532293338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the Goldilocks Rule?

Options :

1. # Something that is extremely challenging

2. # Something that poses no challenge

3. ¥ Something that is challenging but can be handled



4. % Something that one takes up but gives up soon

Question Number : 99 Question Id : 7532293339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that does NOT bring peak motivation and happiness.
Options :

1. # Challenge within an optimal zone of difficulty

2. # Challenge of just manageable difficulty

3. # Challenge which keeps one on the edge of one’s current abilities

4. ¥ Challenge which is at an unsuitable level of difficulty

Question Number : 100 Question Id : 7532293340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is an example of ‘being in the flow’.

Options :

1. # Tarun was preparing for his exams and every now and then, the phone rang and he talked for a long time.

2. ¥ Sita was engrossed in reading the book, she didn’t hear the doorbell ring neither did she hear her phone ringing.
3. % Akash was watching a movie while eating his lunch and kept commenting on the food.

4. % My mother was cooking when she remembered that she had to switch on the geyser and make a phone call.

Question Id : 7532293335 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (96 to 100)

Read the given passage and answer the questions based on it.

The human brain loves a challenge, but only if it is within an optimal zone of difficulty. If you love tennis and try to play a serious match against
a four-year-old, you will quickly become bored. It’s too easy. You’ll win every point. In contrast, if you play a professional tennis player like
Roger Federer or Serena Williams, you will quickly lose motivation because the match is too difficult.

Now consider playing tennis against someone who is your equal. As the game progresses, you win a few points and you lose a few. You have a
good chance of winning, but only if you really try. Your focus narrows, distractions fade away, and you find yourself fully invested in the task at
hand. This is a challenge of just manageable difficulty and it is a prime example of the Goldilocks Rule.

The Goldilocks Rule states that humans experience peak motivation when working on tasks that are right on the edge of their current abilities.



Not too hard. Not too easy. Just right.

Working on challenges of an optimal level of difficulty has been found to be not only motivating, but also a major source of happiness. One of
the important sources of human happiness is working on tasks at a suitable level of difficulty, neither too hard nor too easy.

This blend of happiness and peak performance is sometimes referred to as flow. Flow is the mental state you experience when you are so focused
on the task at hand that the rest of the world fades away.

Sub questions

Question Number : 96 Question Id : 7532293336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, what kind of challenge does the human brain like?
Options :

1. ¥ Any kind of challenge

2. ¥ A challenge of manageable difficulty

3. # A challenge that it cannot manage

4. % A challenge that requires no effort

Question Number : 97 Question Id : 7532293337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In what context are the names of Roger Federer and Serena Williams mentioned in the passage?
Options :

1. ®¥ as tennis players who are very popular

2. # as sports people who face challenges boldly

3. % as tennis players who are hard to defeat

4. % as sports people who do not motivate other players

Question Number : 98 Question Id : 7532293338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the Goldilocks Rule?

Options :

1. ¥ Something that is extremely challenging

2. # Something that poses no challenge



3. ¥ Something that is challenging but can be handled

4. # Something that one takes up but gives up soon

Question Number : 99 Question Id : 7532293339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that does NOT bring peak motivation and happiness.
Options :

1. # Challenge within an optimal zone of difficulty

2. # Challenge of just manageable difficulty

3. % Challenge which keeps one on the edge of one’s current abilities

4. ¥ Challenge which is at an unsuitable level of difficulty

Question Number : 100 Question Id : 7532293340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is an example of ‘being in the flow’.

Options :

1. # Tarun was preparing for his exams and every now and then, the phone rang and he talked for a long time.

2. ¥ Sita was engrossed in reading the book, she didn’t hear the doorbell ring neither did she hear her phone ringing.
3. % Akash was watching a movie while eating his lunch and kept commenting on the food.

4. % My mother was cooking when she remembered that she had to switch on the geyser and make a phone call.

Disciplinel
Group Number : 6
Group Id : 753229180
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No

Break time : 0



Group Marks : 20

Is this Group for Examiner? : No
Disciplinel

Section Id : 753229180

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 753229217

Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 7532293341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The process of transferring the information from one person to other along with the understanding of such information is termed as
Options :

1. ® Planning

2. % Communicating

3. ® Controlling

4. % Motivating

Question Number : 101 Question Id : 7532293341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ot a1 1 TSR o TTY-1Y I U Afad U guR Afdd ! SXAidRd B BI Ufehal B 1 Hel oIl 82
Options :




1. % AT
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Question Number : 102 Question Id : 7532293342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The term which is considered when the instructions moves from top level to the bottom level management is
Options :

1. ¥ Authority

2. % Accountability

3. % Performance

4. % Responsibility

Question Number : 102 Question Id : 7532293342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o e Y TR e TR & U= o1 3R S1d 8 af For Wreg WR fIaR fovar Siran 8, 98 #1991 82
Options :

1. ¢ TR

2. % SdIddst

3. % PHRIYERH

4. % fomerR

Question Number : 103 Question Id : 7532293343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is considered as the art of management?
Options :

1. # To manage customers



2. # To make super normal profit in the organization
3. # To keep pressure on competitors

4. ¥ To get things done by other people

Question Number : 103 Question Id : 7532293343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad 7 9 {5 Uy ot S AT STal 82
Options :

1. % UIgh! ol Yee BT

2. % T H 3ifd =g Ay U

3. % gfawafifal &R garg 98 5T
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Question Number : 104 Question Id : 7532293344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the formal line of authority which moves from highest to lowest rank.
Options :
1. ¥ Scalar Chain
2. # Unity of command
3. # Unity of direction
4. ® Authoritarian power

Question Number : 104 Question Id : 7532293344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
URIBR &1 U= WaT g Sl IEdH § RgdH ¥ &1 3R st g
Options :
1. ¢ 3R gaell
2. % 31 I Tl




3. % {3 &Y T
4. % yTfYeRare wfad

Question Number : 105 Question Id : 7532293345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per Henry Fayol a manager must perform how many functions?
Options :

1. %2

2.%3

3.% 4

4.5

Question Number : 105 Question Id : 7532293345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R A (Henry Fayol) & WWWW@WWW qMfgu?
Options :

1. %2

2.% 3

3.% 4

4. 95

Question Number : 106 Question Id : 7532293346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Contingency management refers to

Options :

1. # The best way to do things

2. # The solution to every situation

3. % Different tasks for different competitive environments

4. # A single plan to achieve objective



Question Number : 106 Question Id : 7532293346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ABAGA TS Pl Hafid BT =l
Options :

1. % IS DI B & Ja 3w AR

2. # g fRufa o foe e

3. « fafts ufaeaeff ararerur o forg srerT-sreT &
4. % IR U B & ol Thd Tioi-T

Question Number : 107 Question Id : 7532293347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why division of work is necessary as per Henry Fayol fourteen principles of management
Options :

1. ¥ To take advantage of the specialization benefit

2. % To control and order the subordinate staff

3. # Delegation of authority

4. ® To distribute the work equally

Question Number : 107 Question Id : 7532293347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

81 B (Henry Fayol) & Usit & iae fidl & SfTaR $rd faHTS &l SHTawae &
Options :
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Question Number : 108 Question Id : 7532293348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not an office support function in the organization?
Options :

1. * The managerial function

2. ¥ The administrative function

3. # The function of analytics

4. % Function of routine nature in the organization

Question Number : 108 Question Id : 7532293348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifed 7 ¥ S9-a1, I § Hrafay Jeadl S T6) 82
Options :

1. % JYDHIT Y

2.  URIA® &1

3. % fRaiftie! &1 &1

4. % IS H A1 UPHfd TR

Question Number : 109 Question Id : 7532293349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following tasks are not a function of the virtual office?
Options :

1. % Desktop publishing

2. % Internet research

3. ® Travel arrangements

4. ¥ Repair and maintenance

Question Number : 109 Question Id : 7532293349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % S¥pely UfearRiT

2. % e Rud

3. ® YA DI IR

4, TRIA 3R S{IREI0T

Question Number : 110 Question Id : 7532293350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct regarding record
Options :

1. ® It should be clear, intelligible and annotated

2. # It should be accessible and available

3. ¥ It should be clear, intelligible and accurate

4. % 1t should be clear and concise

Question Number : 110 Question Id : 7532293350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Repls & ey # FufiRad o ¥ $1H-91 H 951 82
Options :

1. % Jg WY, AR 3R Fiewur g1 eyl

2. % g8 Yo 3R ITA g AR T

3. ¥ U8 WY, SR 3R GEIH 51 A1fgU

4. % Tg WY R Hiard g1 =1feul

Question Number : 111 Question Id : 7532293351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In recordkeeping rule "no Elbow", what does E stands for?
Options :

1. # E Stands for editing

2. ¥ E stands for Erasing

3. % E stands for electronic

4. ® E stands for Entry

Question Number : 111 Question Id : 7532293351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STCRAR &0 f99H "no Elbow", ﬁ, E W%ﬂﬁﬁwmmﬂﬂmwa?
Options :

1. % E & YR UfSfET (editing) & forQ fear man g

2. EWWW(Erasing)%WWW%I

3.% E Wwﬂsﬁaﬁ% (electronic) ¥ fau feurmar g |

4. % E BT YN UGS (Entry) & forQ foar mar g1

Question Number : 112 Question Id : 7532293352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The correction in the record in the document of any type of mistake shall be done by
Options :

1. #® correction using liquid fluid (eraser fluid)

2. ® correction by scribbling the mistake

3. % To put a cut on the mistake using a single line and rewrite below or above.

4. ® inform the superior about mistake

Question Number : 112 Question Id : 7532293352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
foreit 1} TP R & xaraS H e T T BT JUR o g fobam Sme |

Options :



1. % JaTg! dRd (liquid fluid) BT ITANT HRb YR
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Question Number : 113 Question Id : 7532293353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Contemporaneous in office record keeping and management means
Options :

1. # To write in real time

2. ® To write in plain language

3. ¥ To write in chronological order

4. ® To write in comprehensive language and manner

Question Number : 113 Question Id : 7532293353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST MfHRIUTE 3R Yy H TAamaRie (Contemporaneous) Pl 3{217 %l
Options :

1. % gRdfdd GHY  ferg

2. % JR U H ferg

3. ¢ BIAFHHD HH H forg

4. % IS YT R b I forg

Question Number : 114 Question Id : 7532293354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the reason that business letters produces the immediate effect?
Options :

1. ¥ Business letters are authoritative in nature



2. ¥ Business letters are informal in nature
3. ¥ Business letters are brief in nature

4. ® Business letters are interesting

Question Number : 114 Question Id : 7532293354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T BRI ¢ [ TaaiRies U3 depTd UHT IUH Hd 82
Options :

1. % YIS U Uepfa # e g1d g

2. ¢ RIS UF UHfd & SRS 8ld & |

3. % GG U Uohfa H Tfed gid B

4. % IYIRI® UF <P 8d gl

Question Number : 115 Question Id : 7532293355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following should be included in effective office writing?
Options :

1. # Brevity and clarity

2. ® Accuracy and clarity

3. # Brevity and accuracy

4. ¥ Brevity, accuracy and clarity

Question Number : 115 Question Id : 7532293355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % Iferadr 3R gyl
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Question Number : 116 Question Id : 7532293356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
An official correspondence shall contain;

(1) reference of the letter

(i1) name and the address of the receiver
(iii) the date and the salutation in the letter
(iv) heading of the subject

(v) signatory of the letter

Options :

1. % (i) (ii) (iii) (iv) and (V)
2. ® (ii) (iii) and (iv)

3. % (i) (ii) (iv) and (v)

4. % (iv) and (v)

Question Number : 116 Question Id : 7532293356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forlt it Spraferdl/SMfeepTiRes TATER H fReferiad # & o 2miee ghm?

(i) T3 BT Tgy

(if) IRl BT AT 3R Tar
(iii) T # fafdr 3R 3ifrareq
(iv) fawg o1 2fifes

(v) O3 & gIAI&RDdl
Options :

1. ¥ (i) (i) (iii) (iv) 3R (v)
2. % (ii) (iii) 3R (iv)

3. % (i) (i) (iv) 3R (v)



4. % (iv) 3R (v)

Question Number : 117 Question Id : 7532293357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"Memo" which is one of the brief form of memorandum in the written office communication is
Options :

1. # used for legal purpose

2. # used for formal and external communication

3. % used for external communication

4. % ysed for internal communication

Question Number : 117 Question Id : 7532293357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"I (Memo)" S fafaa srafaedt TeR & memorandum (ﬁﬂﬁi@ﬂ)ﬁ@ﬂ?&ﬁﬂ%ﬂwmi%m%mwél
Options :

1. % faferes vl
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Question Number : 118 Question Id : 7532293358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a feature of spreadsheet?
Options :

1. # Tt is a utility software

2. % It is an application software

3. % Ttis a firmware

4. % Tt is a system software



Question Number : 118 Question Id : 7532293358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rrafia #f @ B0 Sresie 1 kv g
Options :
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Question Number : 119 Question Id : 7532293359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The contemporary electronic computer is primarily meant for
Options :

1. # For performing mathematical operations

2. ¥ To perform Input, storage, manipulation and data output
3. # EDP

4. # To store the data

Question Number : 119 Question Id : 7532293359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 120 Question Id : 7532293360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The process to arrange data in logical sequence in the computer system is termed as -
Options :

1. ¥ sorting

2. # classification

3. ® reproduction

4. # summarizing

Question Number : 120 Question Id : 7532293360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HeR ey & SeT &) difthes v H AT B B1 UichdT 1 Haard! g2
Options :

1. ¢ BTTS (sorting)

2. ® m(classiﬁcaﬁon)

3. ¥ ¥l (reproduction)
4. % RIS (summarizing)
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Question Number : 121 Question Id : 7532293361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is called as the brain in a computer system?
Options :

1. ¥ The CPU

2. % The ALU

3. #* The hard disk

4. % RAM

Question Number : 121 Question Id : 7532293361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HueR ReH &1 AT (37) 54 B8 &
Options :

1. ¢ iU (CPU)

2. % UUAY (ALU)

3. % gIs fewh



4. % I (RAM)

Question Number : 122 Question Id : 7532293362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

properly arranged data in the computer system is known as
Options :

1. % field

2. % word

3. ¢ information

4. % file

Question Number : 122 Question Id : 7532293362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FR AT IaRYdSeT | HFEUH AT A |
Options :

1. % Bles (field)

2. % a_sc(word)

3. ¥ T (information)

4. % I (file)

Question Number : 123 Question Id : 7532293363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a computer system usually memory is and the storage system is
Options :

1. # Permanent, permanent

2. % Temporary, Temporary

3. ¥ Temporary, permanent

4. % Permanent, temporary



Question Number : 123 Question Id : 7532293363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

@ HR AT NHARR AR SR ERARem garg!|
Options :

1. % R, Rl

2. % YL, YTl

3. ¥ S, Rl

4. % QYT ST

Question Number : 124 Question Id : 7532293364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The role of algorithm and flow chart in the computer system is
Options :

1. # To identify the capacity (memory) of the computer system
2. # To explain the functions of the computer system

3. ¥ To explain and specify the complete and clear problem

4. # To store the data in the system

Question Number : 124 Question Id : 7532293364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e e & Tanfar 3R Uarg aré &t YfteT 1 g2
Options :

1. % R RRed o &dar @HRY) B! UgaH S|
2. % HER RIcH & B! B HRAT AT

3. ¢ U 3R WY T & AT 3R Ay ol
4. % fien § Sa1 HaTRd ST




Question Number : 125 Question Id : 7532293365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the field of computer,DDL stands for
Options :

1. # dynamic data language

2. # detailed data language

3. ¥ data definition language

4. % data derivation language

Question Number : 125 Question Id : 7532293365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HgeX & g+ H, DDL &1 Y01 U &1 gidl 82
Options :

1. % dynamic data language (STIRTH® STl a"fa\—r[)
2. % detailed data language (fSces SeT ?1'48101)

3. ¥ data definition language (éET SfhfARE ﬁ?é?rl)
4. ® data derivation language (éET KIRGEIE %ﬁ?ﬂ)

Question Number : 126 Question Id : 7532293366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The two files used during operations in the data base management systems are ;
Options :

1. # The utility and the query language

2. % The query and the dynamic data language

3. ¥ The transaction log and the data dictionary

4. ® The query language and the data dictionary

Question Number : 126 Question Id : 7532293366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

ST 99 AR e Red # v=eH & SR STANT &1 9 dTell &l g SiH-31 82
Options :

1. % gfeferdt SR & civaw

2. % B 3R IS ST A

3. ¢ TioaRM AT 3R et feamm™t

4. ® I Aol 3R SeT feai

Question Number : 127 Question Id : 7532293367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In DBMS the key that identifies every row in the table from the available set of column is called as
Options :

1. ¥ The super key

2. % The logical key

3. # The formal key

4. ® The composite key

Question Number : 127 Question Id : 7532293367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DBMS H, ®IaH & IUds Je I ad H Udd Ufdd B Uga B arcll Goll (key) B T BT ST 82
Options :

1. ¥ R w (super key)

2. % dlfchad il (logical key)

3. % AR Foit (formal key)

4. % QoY Pl (composite key)

Question Number : 128 Question Id : 7532293368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



An organization is in the process of setting up a web based information system to enable the internal users all the record, notices, documents of
the organization. This is an example of

Options :

1. ¥ Intranet

2. % Internet

3. # Enterprise resource management

4. # Customer relationship management

Question Number : 128 Question Id : 7532293368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TP TS 99 ST T TOTTeH VAT 3 1 UfehaT # g dlfcs SHTdRe® SUNTGhdrst & o e & vt Reprs, Aifey, gxamael wem

fbu o ud | T® 1 TS Iae0 g
Options :

1. ¥ $¢HC

2. % 3T

3. % IYH AU TS
4. % YIgd JdY YA

Question Number : 129 Question Id : 7532293369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Unified Modeling Language is a language for, specifying, constructing, and documenting the artifacts of a software-
intensive system.

Options :

1. ¥ Graphical, visualizing
2. # Programming, finalizing
3. # Coding, manipulating

4. ¥ Mathematical, visualizing

Question Number : 129 Question Id : 7532293369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

JBIES AlSTeT oia, YFeaaR-Te- UuTel & Rieqda & Ay ®a, Afdfa B 3R ST5T STaTaSiionRur B & o U
YT 3|

Options :

1. ¢ fagsiessl &34, Ufthbd

2. % 3ifqw =u <, Ut

3. % GIBR DA, BT

4. % fAg3raTSSl &, T

Question Number : 130 Question Id : 7532293370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a standard word processing software when the name and address are combined it is called as
Options :

1. ¥ formatting

2. ¥ mail merge

3. # database management

4. % grouping

Question Number : 130 Question Id : 7532293370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forelt I 98 TR WiteaaR § 91a =14 3R Ud &1 i feam St & @ 59 91 6T offdl 82
Options :

1. % BT

2. ¢ Td TGl

3. % STI9Y UeYT

4. % UGB

Question Number : 131 Question Id : 7532293371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the most likely use of a word processing software?
Options :

1. # To maintain the ledger account of the business

2. % To type an article or the biography

3. # For Inventory management system

4. % For drawing and painting

Question Number : 131 Question Id : 7532293371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafifed 7 ¥ S9-91 78 NIRRT Witk &7 9o 31fied IHIfad Iuai |2
Options :

1. % AT & o] Wd Pl GW1d BT |

2. ¢ D5 oG IT Sita-t <8y HAT

3. % gdcd U= Yulrelt & |

4. % ST IR Ufen & forw|

Question Number : 132 Question Id : 7532293372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Control + C and Control + V are used for the following purpose in the word processing software
Options :

1. ¥ To copy and paste

2. % To cut and paste

3. # To paste and cut

4. ® To merger the document

Question Number : 132 Question Id : 7532293372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS NIRRT IioedmR H eld + C 3R Herd + v BT JanT fb Sexat & fore fovar Sran g2




Options :

1. ¢ BIUT 3R O T & foru|
2. % BT IR UK A & oy
3. % IRC 3R & B o fa |
4. % SlRgHE DI Al B & feru|

Question Number : 133 Question Id : 7532293373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The term refers to statements that are written in a language the computer can understand
Options :

1. ¥ Process

2. ¥ Syntax

3. % Code

4. # Para

Question Number : 133 Question Id : 7532293373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e I HYA Bl GEd HRaT g o 9 HIT H ford 77T B o e v Ihdi 7
Options :

1. % GfehdT (Process)

2. ¢ TI-fd=I (Syntax)

3. ¥ & (Code)

4, ® aT[(Para)

Question Number : 134 Question Id : 7532293374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the purpose or meaning of word wrap in word processing or MS word software
Options :



1. # It allows the user to type over the text

2. ¥ It moves the text to the next line of the typed line whenever necessary
3. % It saves the word document automatically

4. # Tt indicates the end of the document

Question Number : 134 Question Id : 7532293374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
a—gmmMsa’éWﬁa@fh(wordwrap)mmmeﬁﬁwa‘?
Options :

1. % Ig UGNl &I CRe TR 213U H- &1 JfaeT al g

2. ¢ I it AT B, TG TR DI TI8Y BI 115 Ufad o1 SATaH Ufad & o SIrdl g
3. % UZ IS SIRAC P! WIeid 70 ¥ 9 HRaT 8|

4. % g SiagHc & 3fd PI SR Il g

Question Number : 135 Question Id : 7532293375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The fax machines, computers, printers, scanners are part of office equipment and are best examples of
Options :

1. # The fixed equipment

2. ¥ The office automation equipment

3. # The industrial accessories equipment

4. ® The tangible equipments

Question Number : 135 Question Id : 7532293375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ty AR, FeR, iR, YR, Ay IUHRU &1 R § 3R ¥ gaaH IR |
Options :

1. % 3 3UDU[




2.  PIATAY WA SUBI]
3. % 3N TR IUBHI]
4. % T IUBR

Question Number : 136 Question Id : 7532293376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A light pen is

Options :

1. # a mechanical input device

2. % an electronic input device

3. ¥ an optical input device

4. % an optical output device

Question Number : 136 Question Id : 7532293376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
NIECC IR

Options :

1. % T gieh 31YC f&arsy

2. % U gadIp 37YC fSarsy

3. ¢ U 3HiPdd g1Yc fgarsy

4. % U 3P 3M3cYc fearsy

Question Number : 137 Question Id : 7532293377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When a computer system is connected to the internet, the same is identified by a string which is unique four part string, which is termed as

Options :
1. ¥ Internet protocol address
2. % The host name



3. ¥ The domain name
4. ¥ URL

Question Number : 137 Question Id : 7532293377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gawmﬁwécﬁcﬁxgsl gId1 8, Y 39 U T gRT U1 SiTelt ¢ St fafRrse aR HiT areft R gicht g, o HgT oIl
|

Options :

1. ¢ Se3Ac Uiciold Tgd

2. % gRe AH

3. % A Y

4. % Y3RTA (URL)

Question Number : 138 Question Id : 7532293378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"Market" in relation to sales and distribution management is
Options :

1. # Where a basket of goods is available

2. ¥ A place where the buyers and sellers meet

3. % A place where goods of similar nature are purchased and sold

4. % A market is a shopping mall

Question Number : 138 Question Id : 7532293378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fpt 3R faaRur yeie & ey H "SR (Market)" T2
Options :

1. % 9g R g1 AT BT U I SUAH Il 2|

2. ¢ T8 R 981 WRIGR 3R faghdr e 8




3. % 98 ™Y 8l YA Ui BT I Wil 3R o= STl g |
4. % SR U QT AT ST g |

Question Number : 139 Question Id : 7532293379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Office photocopy machine is what type of market
Options :

1. ¥ B2B

2. % B2C

3. % C2C

4. % C2B

Question Number : 139 Question Id : 7532293379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3T BTt A=A for TR &1 IR 32
Options :

1. ¥ B2B

2. % B2C

3. % C2C

4. % C2B

Question Number : 140 Question Id : 7532293380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The difference between the term "customer" and "consumer" is -

Options :

1. #® Both are same

2. ® Consumers purchase the products whereas customers do not purchase
3. ¥ Customers purchase the product and consumers use the products

4. ® consumers buy the products on behalf of the customers



Question Number : 140 Question Id : 7532293380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"TEH" 3R "IYHITT" Teg P ad T 3R g2

Options :

1. % S TS B G|

2. % IUUIFdT IATE Wled g Sa(P Aed el BRIGd & |

3. ¢ Y8 IdTE TG & 3R STHIT IATG! BT ST Hd & |

4. % JUHIIT TTgh! B 3R T IdTE TSI g |
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Question Number : 141 Question Id : 7532293381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When raw material manufactured by one organization is sold to another organization for the purpose of using it to manufacture another product -
the term used will be

Options :

1. ¥ Industrial market
2. ¥ C2B market

3. # B2C market

4. % The market of reseller

Question Number : 141 Question Id : 7532293381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

wgﬂwmﬁﬁﬁ Pl TS QIR W16 Bl AR TG b (AT & T UGN H & 33T 991 Ol § — o) 39D 4 Tgad Weq
1 I

Options :

1. ¢ SRS IR
2. % C2BdNIR

3. % B2C dVIR

4. % THfAhdl &1 dNIR

Question Number : 142 Question Id : 7532293382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"Brand Ambassador" is



Options :

1. # Salesman

2. % Bloggers who recommends the product to consumers

3. ¥ A well known person who recommend to other people to use

4. % The first consumers or the customers who uses a product or brand

Question Number : 142 Question Id : 7532293382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIS TR T |

Options :

1. % SqH I &

2. % SR BIAT § Sl SUHIGISH &I IATE BT SR Bl &

3. ¢ URYG Sfad BidT & S 30 TRT b1 IUANT A B1 T8 ol o

4. % UG UG IT TG Bl § Ol foh el IS T 7S T IUINT vl §

Question Number : 143 Question Id : 7532293383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is customer relationship management?

Options :

1. ¥ To make the efforts to retain the customer

2. % To make the efforts for cause related marketing

3. # To make the efforts for informing the customers about the product

4. % Customer data management

Question Number : 143 Question Id : 7532293383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TEH ey Tee T 57
Options :



1. ¢ g% B! §TE TG o ol T BT

2. % HRU Y& fAYuH o fore gar &A1)

3. % UTEH! Bl IAG & IR H YId B BT TN BT
4. % YgdH gl Ueed

Question Number : 144 Question Id : 7532293384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"Green marketing" is

Options :

1. # Selling and distribution of green color products

2. ¥ Selling and distribution of environmental friendly services and product
3. # Selling and distribution of products though green packaging

4. % Selling and distribution of product at a low price

Question Number : 144 Question Id : 7532293384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"gRd fauur @ 82

Options :

1. % BT P Idal BI fae! 3R faavor

2. ¢ TITARUT 3% d Jarsil 3R Il B! foh! 3R faaRom
3. % I D! U & T1eH U IdTal BI faeh! 3R faavor
4. % HH DD W IAG i faehT 3R fIearon

Question Number : 145 Question Id : 7532293385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Why word of mouth is considered as the best strategy of advertising?
Options :

1. ¥ It is free of cost and no money is spent on the advertising



2. # Fast and reliable way of communication of message about the product
3. % The message is perpetual and passes on continuously for infinite time

4. % The message goes only to intended users of the product and services

Question Number : 145 Question Id : 7532293385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 3% ARSY (word of mouth) P! fAFTTT &1 G 33} JuMfer o AT STl 82
Options :

1. v I8 gUd ¢ IR fao R &g U @ =181 foma Sira 81

2. % JdIE P IR H Yo & JR BT avl 3R Ryg-g e 3|

3. % X TMYT & 3R 3Fd BTd b R TelaT |l B

4, ® I Had IdTE 3R Jareli & 3fasd STANTH AT B ST g |

Question Number : 146 Question Id : 7532293386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not the task of human resource management?
Options :

1. ® To attract new employee

2. ® To retain employee

3. # To recruit employee

4. ¥ To encourage labor turnover

Question Number : 146 Question Id : 7532293386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ol § 3 SH-91 AHd G918 e &1 S 51 82
Options :

1. % U HHAR] BT BT HAT|

2. % HUIRY Pl §IT G|




3. % HHARI BT Hdll BT
4. ¥ ¥ 3MGAH (turnover) B! UTeATRd HAT|

Question Number : 147 Question Id : 7532293387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not the part of human resource policy of the organization?
Options :

1. # To establish the reward system in the organization

2. # To create the process of employee appraisals in the organization

3. % To create the opportunities for staff development and training in the organization

4. ¥ To establish the choice of suppliers in the organization

Question Number : 147 Question Id : 7532293387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafifad § & PH-91, T 31 91g I91eE =ifd o1 R T8l 82
Options :

1. % T3 § QRIDHR YUITel! AT AT

2. % TG B HHAR! e BI UiohdT daR AT

3. % Yo | HHATRG! & BT 3R Ui & 3aR et B
4. ¢ T3 SATgfcipaisn BI UG VAU BT

Question Number : 148 Question Id : 7532293388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

OD in Human resource management stands for-
Options :

1. # Organizational design

2. ¥ Organizational development

3. # Organization Database



4. ® QOrganization design and development

Question Number : 148 Question Id : 7532293388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HE W1 Tee § OD 1 Ui &0 1 87

Options :

1. % Organizational design (TGO fS9IT2)

2. ¥ Organizational development (T HIZOIRAA SAAYHC)
3. #® Organization Database (\Hﬁﬁ{@?ﬂ STTaN)

4. % Organization design and development (3TZSIRM fSTE TS Saaudc)

Question Number : 149 Question Id : 7532293389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The component of service quality which requires employees engaged in service delivery to be prompt and helpful in their work is
Options :

1. ® Tangibles

2. ® Empathy

3. ¥ Responsiveness

4. % Assurance

Question Number : 149 Question Id : 7532293389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4T &1 UG BT U forads o TaT [aaRur H T HHATRE] B 30 HTH H TR 3R T8HH 8 B TGS il ©, I8 H1 82
Options :

1. ® Tf(Tangibles)

2. % GEMHYfd (Empathy)

3. ¢ SfhATRITEdT (Responsiveness)

4. % 3{IRATY (Assurance)




Question Number : 150 Question Id : 7532293390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The method of training where the trainees are trained in an environment which actually resembles the actual office of the organization is called

Options :

1. # The work place training

2. # The environmental scanning
3. ¥ The simulation training

4. ® The resembling training

Question Number : 150 Question Id : 7532293390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Uﬁwa;agﬁﬁaﬁqﬁrgeﬁﬁ@aﬁwﬁmaﬂmwm%@ aRdd § W6 & dRdfde Hriad 3 fedr S[ad g, o
HEA g2

Options :

1. % HRIRS YFRAEIT (work place training)

2. % TYTGROT IB T (environmental scanning)
3. ¢ =00 A& (simulation training)

4. % e YA (resembling training)

Question Number : 151 Question Id : 7532293391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When the performance appraisal of an employee is primarily influenced by his past performance is termed as
Options :

1. #® The horn effect

2. % The halo effect

3. % The spillover effect

4. ® The leftover effect



Question Number : 151 Question Id : 7532293391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e fhdl HHART &1 HR-Aved it T30 0 ¥ 39 Usd S-Aued duuifiddgaigaisy . del ol gl
Options :

1. % YUYy

2. % YRR gHTE

3. ¢ WIdd UHIq

4. % 3fARIY YHTI

Question Number : 152 Question Id : 7532293392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the practice of moving employees between jobs in an organization.
Options :
1. #* Job evaluation
2. % Job rotation
3. # Job enrichment

4. # Job enlargement

Question Number : 152 Question Id : 7532293392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
7Wﬁ%ﬁ$ﬁ$§ﬁﬂmﬁﬂm(moving)ﬁqmal
Options :

1. % B i

2. ¢ BTG

3. % B dagA

4. % o7 faadH



Question Number : 153 Question Id : 7532293393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The feeling of injustice at the workplace is termed as
Options :

1. ¥ Grievance

2. % Biasness

3. # Prejudice

4. % harassment

Question Number : 153 Question Id : 7532293393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PAA R AT B UGB B Sl gl
Options :

1. ¢ Rreerd

2. % U&UId

3. % Qanig

4. % Idied

Question Number : 154 Question Id : 7532293394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The process of determining and assessing the strength and power of one of the employee is termed as-
Options :

1. # The competency process

2. % The empowerment process

3. ¥ The engagement process

4. ¥ The competency mapping process

Question Number : 154 Question Id : 7532293394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

ol HHART o AR 3R o & FHUIRG B IR IUDBT BT DR Bt UichdT I HEAKI 62
Options :

1. % GerHdT ufshar

2. % RI(IhRT Ufchal

3. % e ufcha

4. G AT Ufchar

Question Number : 155 Question Id : 7532293395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are two theories which explains the approach of the managers towards their employees, theory X and theory Y. The assumption of theory
X is that people -

Options :

1. ¥ dislike work, have little ambition, and are unwilling to take responsibility
2. # like work, have little ambition, and are unwilling to take responsibility

3. # dislike work, have high ambition, and are unwilling to take responsibility

4. % like work, have little ambition, and are willing to take responsibility

Question Number : 155 Question Id : 7532293395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3l Rygid & S Ususd! & 31ua seanal & Ufa =i o) aarel d §, Rigid X SR Rigid v Rigid x Pl yRongg g fv o
Options :

|. ¢ BTH P TS B &, HH HEdIPI&T [Ad & 3R TR o P IR T8I 8id &

2. % HTH DI TS HId 8, PH HEATHI&T IT & 3R PR a9 &l IR T8 8ld &

3. % P P AUYE B &, 3 HEAIHIe IWd § 3R SR a9 &l TUR I8l 8ld &

4. % P B TS B ©, PH HEQIHIET I & 3R FTHIGR! 1 P dOR 8ld &

Question Number : 156 Question Id : 7532293396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A type of disciplining technique that provides employees opportunities to correct their behavior before being discharged, is called:
Options :

1. ¥ Progressive discipline

2. % Positive discipline

3. % Confrontational discipline

4. ¥ Normative discipline

Question Number : 156 Question Id : 7532293396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS YHR B SR dPh-1h Sl HHARAT B! AITdd g I UG 30 IER Pl 31 FxA BT (AR UGH IS, gt g
Options :

1. ¢ TRTICIRATe SR

2. % JhRIHD HJATIA

3. % CpIg RN

4. % 3GRID SR

Question Number : 157 Question Id : 7532293397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not considered as factor of production in economics?
Options :

1. ¥ Raw material

2. % Land

3. % Labour

4. % Capital

Question Number : 157 Question Id : 7532293397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad & 3 5 srfeme & Idre &1 FRE T8t A1 SIdT 82




Options :
1. ¥ Dl HIA
2. % U
3. % 9H

4. % Goit

Question Number : 158 Question Id : 7532293398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is meant by the term marginal cost

Options :

1. ¥ the change in total production cost due to producing one additional unit
2. % the decrease in total production cost due to producing one additional unit
3. % the change in total production cost due to producing two additional unit

4. ® No change in total production cost by producing one additional unit

Question Number : 158 Question Id : 7532293398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HAid ATd e &1 1 37 72

Options :

1. ¥ T 3fIRad SH1E & IAIG b HRUI Hdl SdIe ANTd H gRac
2. % U IR IS & IMTG &b HRUI A IdTad arTd J HH

3. % g SffaRkad SHZAl & IATG & HRUI Hd I AN | TRdcH
4. % TH AR IP1E & IAGH I A SdIe- AN H dig TiRaa Tl

Question Number : 159 Question Id : 7532293399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In economics INCOME - SAVINGS =
Options :



1. * Demand
2. * Production
3. % Consumption

4. * Investment

Question Number : 159 Question Id : 7532293399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SfIRAH o -qAd= g3l
Options :

1. % |

2. % Jdlad

3. ¢ JUHAT

4. % fyag

Question Number : 160 Question Id : 7532293400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Price elasticity of the demand is 0.5 and what type of goods this elasticity signifies
Options :

1. % Luxury

2. # Giffen

3. % Inferior

4. ¥ Necessary

Question Number : 160 Question Id : 7532293400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT &t BT A 0.5 § 3R T8 A 5T TR & HId B SXidT 82
Options :

1. % fqariyar




2. % I AT
3. % Py (afeam

4, ¢ 3[AYDh
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Question Number : 161 Question Id : 7532293401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The entity concept of accounting signifies that -

Options :

1. ¥ Owner and business are two separate entity

2. # Owner and business are same entity

3. # Owner and business maintains same book of accounting

4. % Owner and business maintains separate book of accounting

Question Number : 161 Question Id : 7532293401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ARAip Bl Od YheuTug et g fd |
Options :

1. ¢ I 3R AT Gl 3IET-31T TR (3HTS) §
2. % I 3R I TS 8l GRIT (IPTS) ©

3. % TP 3R I U 81 AGich 961 3I9d &

4. % i 3R STTITT SQAT-3{ST ARGih Il T9d &

Question Number : 162 Question Id : 7532293402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is Accounting equation?
Options :

1. ¥ Assets - liabilities = Capital

2. % Assets + liabilities = capital

3. #® Assets + capital = liability

4. ® Capital - Liability = Assets

Question Number : 162 Question Id : 7532293402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffad & ¥ SH-91 aGie IHiHR 82




Options :

1. ¢ 31T - Seriat = goit
2. % 3R + SRl = Yol
3. % S{IRETl + ol = ool

4. % Goll — T = 31l

Question Number : 163 Question Id : 7532293403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not included in the definition of accounting?
Options :

1. # Identifying economic information

2. ® Measuring economic information

3. ¥ Developing economic information

4. ® Communicating economic information

Question Number : 163 Question Id : 7532293403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad & @ HH-91 aRaie o aluren # 2nfid T8t 82
Options :

1. % 3P THSHRT B! g HRAT

2. % 3 SHHRT &I AT

3. ¢ 3P STHBR! BT fAHr BT

4. % P TSR BT HIR ST

Question Number : 164 Question Id : 7532293404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not an accounting software?
Options :



1. # Tally
2. % Wave
3. % Marg
4. ¥ SPSS

Question Number : 164 Question Id : 7532293404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefEd § § B19-91 Us ddie JioeaddR el 82
Options :

1. % <ot

2. % 49

3. % AN

4. % SPSS

Question Number : 165 Question Id : 7532293405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not an advantage of the computerized accounting system
Options :

1. # Speed

2. # Reliability

3. % Accuracy

4. ¥ Impact on health

Question Number : 165 Question Id : 7532293405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffied & @ ®1F-91 Feied A¥idh YUITel &7 a1 T8l 87
Options :

1. % I




2. % fasy-ran
3. ® ORYLgar

4. WY U YHIT

Question Number : 166 Question Id : 7532293406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For creating a company in Tally we use the following shortcut:
Options :

1. ® Alt+F1

2. % Alt+F2

3. ¥ Alt +F3

4. % Alt +Esc Key

Question Number : 166 Question Id : 7532293406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

<ot & o g9 & fore g fafoiaa & 9 forg Aicewe &1 Suai avd 82
Options :

1. #® Alt+F1

2. % Alt+F2

3. % Alt+F3

4. % Alt+Esc Key

Question Number : 167 Question Id : 7532293407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which key is used to post entry in Debit note in Tally?
Options :

1. % F7

2. % F8

3. ¥ Ctrl+F9



4. % Ctrl+F8

Question Number : 167 Question Id : 7532293407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

¢oit 1 sfae e # ufafY uike 7 o o fobt ot b1 IUGNT fobaT el 82
Options :

1. % F7

2. % F8

3. ¥ Ctrl+F9

4, % Ctrl+F8

Question Number : 168 Question Id : 7532293408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Consider the following statements in the context of accounting:

Statement — 1: Transaction is recorded from the viewpoint of the person for whom the accounts are maintained.
Statement — 2: Costs and revenues are taken into account or accrued as and when they are incurred or earned, rather than when they are paid or
received.

Which of the following is CORRECT?

Options :

1. ¥ Both statements are TRUE

2. # Statement — 1 is TRUE and Statement — 2 is FALSE
3. % Statement — 1 is FALSE and Statement — 2 is TRUE
4. # Both statements are FALSE

Question Number : 168 Question Id : 7532293408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR & deH # ufefad syl &R faar &3



HYA-1: A-27 3T Afad & PRI T Tl fhaT STdl & forges ol @rd auR fau 9 |1
HYT2: AT 3R IS B feqra & fordn ST 8 a1 39 IWId a1 3ifofd fopw oM iR Iufrd fosan Si1di 8 S19-Sid a8 3a<ae g1, 7 {3 o/
38 YT a1 U o ST g |

9 & ¥ P9-91 9y T8t 32

Options :

1. ¢ Hl SUTIT B

2. % HYT— 1 JI g IR BYT— 2 I B
3. % HYT— 1 I g IR PYT— 2 I g
4. % S HYT I B |

Question Number : 169 Question Id : 7532293409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Information is available for a construction project under the given heads:

A. Contract value of the project

B. Costs incurred to date

C. Estimated cost to complete the balance work
D. Costs paid to date

The percentage completion of the project is dependent of which of the following?
Options :

1. % Aand C

2. % Only D

3. Band C

4. % Aand D

Question Number : 169 Question Id : 7532293409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fordt frmfor aftaer & fere Fafefea oief & siavfa gem Suas 81t &
A. ORASHT &1 HfdeT I



B. 3§ d& JUITd ARTd
C. A9 T B R HIA & T SFHIAT TRTd
D. 3§ qH YT &1 T8 AT

Ui & TRT 81 &1 ufard Fafifed & 9 frg w MRk garg?
Options :

1. % A3RC

2. % HAAD

3. ¥ B3R C

4. % A3MRD

Question Number : 170 Question Id : 7532293410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As a communication medium, language has two components: spoken language and communication.
Options :

1. ¥ Non verbal

2. # business

3. ¥ Commercial

4, % electronic

Question Number : 170 Question Id : 7532293410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS WU HIEGH & U H, HTNT P &l 9P BId o: Scrarel BI HIST 3R U |
Options :

1. ¢ 3MMieh

2. % HHIRID

3. % qriUeus

4. % eI




Question Number : 171 Question Id : 7532293411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Body language, the facial expression, the tone of voice will be considered as which type of communication?
Options :

1. # verbal communication

2. ¥ non-verbal communication

3. ¥ written communication

4. % grapevine communication

Question Number : 171 Question Id : 7532293411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TIRIRe HINT, TR & HIG, Siei &b Aeol Dl fbd YbR BT YN HFT ST
Options :

1. % Qfedd JUYUT

2. ¢ 3Tfegeh HUYOT

3. % forRgd guwor

4. % SFEYETE YO

Question Number : 172 Question Id : 7532293412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

English grammar needs an understanding of how many type of different parts of speech for effective communication?
Options :

1. % Four

2. # Six

3. ¥ Eight

4. % ten

Question Number : 172 Question Id : 7532293412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

U HUW0T & forT o TR & Al reqiicl &t THST B SHTaRadHdl SIS SATHN | Bl 67
Options :

1. # dR

2. % So

3. ¥ 33

4. % 4

Question Number : 173 Question Id : 7532293413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In English grammar what is termed as the meaning of name, place, person or thing
Options :

1. ¥ Noun

2. % Verb

3. * Adverb

4. % Pronoun

Question Number : 173 Question Id : 7532293413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUST BN B AT, VI, fdd a1 9% & 31 B T Had 62
Options :

1. ¢ G

2. % fopa

3. % fopar fa=Ivom

4. % g

Question Number : 174 Question Id : 7532293414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The dress code is an example of which type of communication
Options :

1. % Verbal communication

2. ¥ Non-verbal communication

3. % Spoken communication

4. % Written communication

Question Number : 174 Question Id : 7532293414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SO BIS fhd UHR & YUY HT IS8 0T ]2
Options :

1. % Qe YU

2. ¥ 3Meded JUNUT

3. % erdrel T YUY

4. % forRad Ty

Question Number : 175 Question Id : 7532293415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is correct in spelling
Options :

1. # Acording to

2. ¥ Sincerely

3. % 50 precent

4. # definately

Question Number : 175 Question Id : 7532293415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Foffad 7 3 feas! ad w8l o2

Options :



1. ® Acording to
2. ¥ Sincerely
3. ® 50 precent
4. ® definately

Question Number : 176 Question Id : 7532293416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Lateral communication

Options :

1. # Is between superior and subordinate
2. ¥ Is between the same cadre of personal
3. # Is between subordinate and superior

4. % Between a superior of one division and subordinate of other division

Question Number : 176 Question Id : 7532293416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UfRde guvor glargl

Options :

1. % IR SR ey & o9

2. ¢ TH gl Yail & PIHDI & &

3. % IR 3R aves & a4

4. % TH YUTT & G 3R G U & e & o9

Question Number : 177 Question Id : 7532293417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the meaning of word "communis" that is the Latin word and the word communication is derived from the same?
Options :

1. ¥ Community



2. % Common
3. # Marxist
4. % Share

Question Number : 177 Question Id : 7532293417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"communis" ¥1eG BT 3 FT g S A Tsg § 3R communication e I T U~ g3l 87
Options :

1. * HHa (Community)

2. % {MHY (Common)

3. % HEHaTdl (Marxist)

4. % YT hHAT (Share)

Question Number : 178 Question Id : 7532293418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Reviews and critiques fall under which of the following document category?
Options :

1. # Instructional

2. ¥ Persuasive

3. %* Personal

4, % Commercial

Question Number : 178 Question Id : 7532293418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THiemy 3R sfTeieTe Ffafad § 9 oy gwarast guft (document category) & 3farfa 3l 82
Options :

1. % FexTd® (Instructional)

2. ¢ IRF (Persuasive)



3. % HfGATd (Personal)
4. % gIOIfSY® (Commercial)

Question Number : 179 Question Id : 7532293419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 ¢'s of communication are

Options :

1. ¥ Clarity, Correctness, Conciseness, Courtesy, Concreteness, Consideration, Completeness.
2. # (larity, cordialness, calmness, correctness, concreteness, consideration , creditworthiness
3. # Clarity, cordialness, calmness, correctness, Consideration, Completeness, confidence

4. #% Confidence, cordialness, calmness, courtesy, Concreteness, Consideration, Completeness.

Question Number : 179 Question Id : 7532293419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U0 & 7c (7 c's of communication) % :

Options :

1. ¢ Clarity (YISCdT), Correctness (Clﬂ'ﬂ@?l'l), Conciseness (@F&Iﬁ?ﬂ), Courtesy (ﬁ:ﬂﬂ?ﬂ), Concreteness (Bﬁﬂ?ﬂ), Consideration (ﬁﬂ'l?),

Completeness
2. # Clarity (Y9%dI), cordialness (Fh@léal ), calmness (%ﬂ??ﬂ), Correctness (Clli"\f!@al ), concreteness (?ﬁﬂ?ﬂ), Consideration (ﬁﬁfﬁ),
creditworthiness (1)

3. # Clarity (YI%CdT), cordialness (@_Eﬂ?{_rﬂ), calmness (iﬂ?_cﬂ), Correctness ¢q|§&{!§a| ), Consideration (@'_fﬂ_{), Completeness (Tﬂ?ﬂ),
confidence (Nﬁﬂ'l)

4. ® Confidence ('J-R:m'l), cordialness (F:Hélé(_‘ll ), calmness (?ﬂ?_cﬂ), Courtesy (ﬁ:n;?n), Concreteness (@ﬂ?ﬂ), Consideration (ﬁiﬂ?),

Completeness

Question Number : 180 Question Id : 7532293420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A good business message is the result of considered effort on the part of the author and involves four stages. The four stages are:
Options :



1. # Posturing, drawing, rendering, posting
2. # Positioning, decoding, recording, polishing
3. % Preparing, doodling, revising, presenting

4. ¥ Planning, drafting, reviewing, publishing

Question Number : 180 Question Id : 7532293420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ST AT Hex ARgeb B 3R F GRIRa Ty b1 uRumH giar @ 3R 399 IR @R e 8ld &1 4 IR IR HH-8 82
Options :

1. ® ﬁ_@'la'f, ﬁﬁ'i?b—"f, Qﬁl’cﬂa_"[, m (Posturing, drawing, rendering, posting)

2. % QU ﬁﬁ_&q, Gfﬁ-la@:f, gRaTS (Positioning, decoding, recording, polishing)

3. % QUR PRl god ¢l T=nfad DR, U d PRl (Preparing, doodling, revising, presenting)

4. ¢ QIS g1l Ul TR hRl, Tten PRl UDIR[T PR-T (Planning, drafting, reviewing, publishing)
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Question Number : 181 Question Id : 7532293421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is used as the substitute for informal communication
Options :
1. # The vertical communication
2. # The horizontal communication
3. ¥ The grapevine communication

4. % The visual communication

Question Number : 181 Question Id : 7532293421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BT IUUNT TR YUY & fadhed & =0 H fhar Srar ]
Options :

1. % FHealeR YUwo

2. % &fas Jowor

3. ¢ SFYETG YUYW

4, % TGAM JUYOT

Question Number : 182 Question Id : 7532293422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the below mentioned option is considered as the most effective method of communication?
Options :

1. # The verbal communication

2. % The grapevine communication

3. % The written communication

4. ¥ The visual or non-verbal communication

Question Number : 182 Question Id : 7532293422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i feu e faeedl H @ S1H-91 TUYUT BT G YT a1 HIHT SITdT 82
Options :

1. % Yfsgdh JUYOT

2. % SEIYATG U

3. ¢ forfad duwor

4. % TG 7 3Mfeqd JUYUT

Question Number : 183 Question Id : 7532293423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Internal communication is

Options :

1. ¥ Communication between people outside the organization and people inside the organization
2. ¥ The internal exchange of communication, idea and information (within organization)

3. # Communication via Internet /E-mail

4. ® Communication between people inside the organization to people outside the organization

Question Number : 183 Question Id : 7532293423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3fiafke Uwour HGIE



Options :

1. % TG &b I8 b ANl 3R TG & 3ie3 & AN & o JUWoT
2. ¢ TUY, fAaR 3R Y1 &1 AR MEH-UaH (@16 & i)
3. % ZeAC/A-AA & HIgH I HUw0T

4. % TS o 3G &b ANl Dl T3 & d18R & ARl & JUHur

Question Number : 184 Question Id : 7532293424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Simplicity of language and clarity of make it easy of the reader to understand.
Options :

1. # Synonyms

2. % Articles

3. ¥ Logic

4. % Construction

Question Number : 184 Question Id : 7532293424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

VTS WAAI SR P WYAI Y, TP I JHIH | S B ]
Options :

1. % Ugigard s

2. % U

3. D

4, ® T

Question Number : 185 Question Id : 7532293425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
There are various barriers to effective communication. Which of the following is not a barrier to effective communication
Options :



1. # The restrictive environment in the organization
2. ¥ The ethical communication system in the organization
3. # The emotional distractions in the organization

4. # Increased number of messages

Question Number : 185 Question Id : 7532293425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gt Sowor § faftrs areme § | Fafafea & @ oF-ar, gurd 9ovor & arer T8t 82
Options :

1. % & H UfdeTe D araraRon

2. ¢ T3 B Afde Jowor Yol

3. % YIS T HIgATHD SgHhl

4. % RN &1 941 g3 A=A

Question Number : 186 Question Id : 7532293426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

You are meeting a client in a social setting, for a business context. How would you have a conversation with them?
Options :

1. # Discuss the recent football match

2. # Talk only about work

3. % Start the conversation with a topic of mutual interest, and then gradually discuss work

4. ® Discuss the recent political environment

Question Number : 186 Question Id : 7532293426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T T ATaT YeH & fort ue Urges A grTfore ulkawr & fid 38 §1 310 39 I1Y Ha Jrddid Ha?

Options :
1. % gIfeR Peaid 7d IR gl dxT|




2. % 6Hdd B & IR T &1 HRHAT|
3. ¢ URWNRS 3 & fawa J S1ceid Y& o3 3R iR - & oR ==t =1
4. % gIfora TSfee WIRIA TR el x|

Question Number : 187 Question Id : 7532293427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the term used to describe the emotion or feeling in your voice?
Options :

1. ¥ Tone

2. % Sarcasm

3. % Sentiment

4. ¥ Verbal communication

Question Number : 187 Question Id : 7532293427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3{TTehT SATATST H TG IT HTGHT BT JUIH B & g fordy e &1 YT T Sira 82
Options :

1. ¥ dgull (Tone)

2. % D& (Sarcasm)

3. # YId (Sentiment)

4. % Mfeqd FdTG (Verbal communication)

Question Number : 188 Question Id : 7532293428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not the principle of business letter writing
Options :

1. ® Clarity

2. % Consideration



3. # Correctness

4. ¥ Concurrency

Question Number : 188 Question Id : 7532293428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafiRad & @ ®1H-91 AauiRie U7 oeH &1 Rigid 781 82
Options :

1. # Wyl (Clarity)

2. % g - f[daR (Consideration)

3. % gUTRfd (Correctness)

4. ¢ JH¥XUdT (Concurrency)

Question Number : 189 Question Id : 7532293429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the sentence given below

(a) in communication process the technical jargon cannot be a barrier
(b) if the translation of certain communication is faulty it also leads to faulty communication

Options :

1. ¥ (a) is incorrect (b) is correct
2. % Both (a) and (b) are correct
3. % Both (a) and (b) are incorrect

4. # (b) is incorrect and (a) is correct

Question Number : 189 Question Id : 7532293429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i feu 7 gl & ue 3R TE) fah ey 1 T B

(a) TONUT UfghaT H dh-1h! UegolTel ST Tl 8 Ybhdl g
(b) Tfe P& MiAT TV &1 3gaTe alvgul § df I | oyl SUyor &1 ok o ST 5




Options :

1. ¥ (2) TTeId & 3R (b) TR R
2. % (2) 3R (b) S TR B
3. % (a) 3R (b) T T B |
4. % (b) TAd g 3R (a) TR

Question Number : 190 Question Id : 7532293430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not matched correctly

Options :

1. ® The lack of attention in communication = the psychological barriers

2. ® The wheel-communication network = communication flow from top to bottom and also from bottom to top
3. ¥ The informal communication = the appropriate feedback to the management

4. ® Definite and clean flow = advantage of formal communication channel

Question Number : 190 Question Id : 7532293430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaied & O ®F-a1 98! 671 9 gAfad 781 82

Options :

1. % UV H 4T B HH = FAAND 1T

2. % BTN Aede = YR UdE SHWR A 71 3R 1§ FW B 3R o
3. ¢ SRR FON = Yeed &1 3fed ufagfte

4. % 3T 3R wefie UaTe = Siu=nies Towor [1ey &1 A1y

Question Number : 191 Question Id : 7532293431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To locate the records quickly and easily as and when they are required, they are arranged and stored in orderly, efficiently and neatly, the process
is called as



Options :

1. ¥ The index process
2. # The mail process
3. # The filing process

4. # The recording process

Question Number : 191 Question Id : 7532293431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Al e WR el o1 =ferdT ¥ SR ST 8 Udl T & oY, 3% YoaarRyd, HRIagds SR Gthls I IafRid 3R TIgid
o STl ©, 39 WfshdT o o1 gl oifl 57

Options :

1. ¢ SS9 Ufshar

2. % Wd Ufshar

3. % WIgfeiT ufshar
4. % 3ffera Ufshar

Question Number : 192 Question Id : 7532293432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The office manager will manage all of the following except one, identify the odd one out
Options :

1. # The workplace

2. ¥ The worker

3. # The workstation

4. # The workflow

Question Number : 192 Question Id : 7532293432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T UH T bl BIgHR HaferRad T+ &1 Uae BT, 3R-Id P Ugad b |

Options :




1. % B
2. ¢ HTHR

3. % gHCIH
4. % HAYAE

Question Number : 193 Question Id : 7532293433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The secretary is responsible for all routine office duties except
Options :

1. ¥ Deciding the job role and salary of the employee

2. % take dictation and transcribe the same on computer.

3. # Tabulate data, make simple calculations etc.

4. ® Do correspondence with other organizations on the instructions of the executive

Question Number : 193 Question Id : 7532293433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gira g U 3 Bigdm It A sraierl el & fore SAeR 82
Options :

1. ¢ HHAR] B B YT 3R da- ad BT

2. % fSFYE T 3R IY HEER W T_Y HRAT|

3. % 3T DI IRUNES BT, JHRI GREBAA HRAT 3|

4. % SIS & G TR =7 T3 I THAER FHAT|

Question Number : 194 Question Id : 7532293434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Franking machine in office is
Options :

1. # Printing machine



2. ¥ Postal stamp machine
3. % Mailing machine

4. ¥ Photocopier machine

Question Number : 194 Question Id : 7532293434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BT | Wi A= ST gl 82
Options :

1. % Qgur ORiA

2. ¢ URed WH AL

3. % AT HiH

4. % BICIBIUIR HRH

Question Number : 195 Question Id : 7532293435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to researcher Mehrabian, percentage of verbal and nonverbal communication is effective, respectively?
Options :

1. % 17 % and 83 %

2. % 23%and 77 %

3.9 7 %and 93 %

4. % 93% and 7%

Question Number : 195 Question Id : 7532293435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YDl HexITod & SR, Mfead 3R SHRMeadh TUYUT HHR: guTat BT ]
Options :

1. % 17% 3R 83%

2. % 23% 3R 77%



3.+ 7% 3R 93%
4. % 939 3R 7%

Question Number : 196 Question Id : 7532293436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A contains decisions, resolutions, and directions for starting the policies of the company.
Options :

1. ¥ Policy manual
2. % Organizational manual
3. % Administrative practice manual

4. ¥ Departmental practice manual

Question Number : 196 Question Id : 7532293436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

_ HbuH o il B YE B & for Fvfg, Hoed SR e nfie g1 §
Options :

1. ¢ Hifd Tt

2. ® SIS fgHTaet

3. % YREMHS SRy Fgarde

4. % fquritg BRIyl Fomrae

Question Number : 197 Question Id : 7532293437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The word Secretary is derived from the Latin word “Secretarius” which means “a person”.



Options :

1. # Private

2. ¥ Confidential
3. % Executive

4. ¥ Responsible

Question Number : 197 Question Id : 7532293437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Thesl Xeg Al Teg “Secretarius” I A~ gl g @1 of o e g
Options :

1. % fash (Private)

2. ¥ MUY (Confidential)

3. % HUABR! (Executive)

4. % fyHTR (Responsible)

Question Number : 198 Question Id : 7532293438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A secretary should inculcate the habit of adjusting with different types of
Options :

1. # Persons

2. % Persons and situations

3. # Situations

4. % Superior

Question Number : 198 Question Id : 7532293438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfd ! fAfNT UPR & & 1Y A B 3ed SIa-! Aed|

Options :




1. % feqal

2.  faaal IR fufaal
3. % fufaal

4. % g3

Question Number : 199 Question Id : 7532293439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Secretarial work carried out through the office includes of policies.
Options :

1. # orders and instructions

2. # formulation

3. % communication

4. % drafting

Question Number : 199 Question Id : 7532293439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PHrte & Herw I U oM ara wiydia sl § Hfedt s NI R
Options :

1. % 3R 3R SIS

2. % TGABII

3. ¢ gaR

4, % YR=UU[

Question Number : 200 Question Id : 7532293440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements are True?

1) The secretary of a Government department is appointed on the basis of seniority, service record and experience.
i1) It is the Accountant, not the Secretary of a local body, who prepares the annual budget estimates.



1i1) Collection and collation of factual data for decision-making by the Minister are the responsibility of the chief of the statistical division, not
that of the secretary of the department.
iv) The secretary of the department has to keep the Minister informed about the working of the department.

Options :

1. ¥ (i) & (iv)

2. % (i) (il) & (iv)
3. % (i) (iii) & (iv)
4. % (i) & (iv)

Question Number : 200 Question Id : 7532293440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifed 3 9 -3 Sy 98l 89

i) freft TR fqumT & Ffea &1 Frgfad afkgdr, Jar Rels SR 3yd & YR W $I ki |

i) I8 AEIHR Bidl &, RIF Fer &1 afud Ta, S a1ies doie 3HH daR a1 |

iii) T3 gRT 070 o9 & forg JeaneTes siiss! & T SR fa &t e wifere! faumT & U@ &1 gidl 8, 7 [ faum & afta o1
iv) faumT & gfrg &) faUTT & SHSHS T T2 o1 3T HRIAT Il |

Options :

1. ¢ (i) 3R (iv)

2. % (i) (ii) 3R (iv)
3. % (i) (iii) MR (iv)
4. % (i) 3R (iv)




